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Q.1 Inthe following question, select the related letter group from the given alternatives.

GOLF : GKPF : : BATS : ?
Ans X' 1.CJME

(24 TSBA
X3. BMJE
;{4.GMLE

Question ID : 97675510886

Q.2 Find the missing number in the series given below.

5,9, 16, 29, 54,103, ?
Ans x 1.102

X 2.94
/X< 3.103
( 4.200

Question ID : 97675510894

Q.3 Keeping his back to the rising sun, Rakesh started walking. After a few minutes he turned
left and kept on walking. Then a little later he turned left and then right. In which direction
is he going at the moment?

Ans x 1. West

x 2. East
of 3. South
;( 4. North

Question ID : 97675510897



Dhruv Vashisht
Stamp

Dhruv Vashisht
Stamp


Q.4 If'+'means '+, '-' means 'x', 'x' means '+' and '+' means '-', then the value of 11 x 15 - 81
+ 27 18 what will happen?

Ans X' 1.83
X 2.-214
338
/X 4.146

Question ID : 97675510893

Q.5 Pointing to a woman, a man said, "The son of her only brother is the brother of my wife."
How is the woman related to the man?

Ans ( 1. Father-in-law's sister
x 2. Grandmother
x 3. Mother's Sister

75 4. Mother-in-law

Question ID : 97675510889
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Q.6 When a mirror is placed at PQ, which of the following figures will be the mirror image?

Ans

FRFI'EHITEI':

P
I
N =

Q
1. II
v
=
2. ||
<
N =
3.
|
. |

=

4. I

NG =1

adda

Question ID : 97675510900

Q.7 How many quadrilaterals are there in the given figure?

Ans

K124
K 2.20
o322
K 419

Question ID : 97675510899




Q.8 In the following question, select the related figure from the given alternatives.

e IHaar

x + : ?
Ans 1.
2.
X 3
v &
[— Question ID : 97675510898
- B — e  p——

Q.9 Which number will replace the question mark in the following number series :
217, 344, 513,730, ?

Ans x 1. 999

75 2.1000
of 3. 10071 a

75 4.10001

Question ID : 97675510895

Q.10 31eri & Ry g wiyg d @ faww ug ot g
Ans X" 1. NAMAN

o 2. TOuCH
75 3. MADAM
75 4.RADAR

Question ID : 97675510884




Q.11 foreht Bfga ge smor &, 'WATER' & '42' 8RR 'REST' ol “12' o= S1ram g1 39 e & ‘EARTH!
o &t forar sam?

Ans X' 1.50
75 2.28
W 3.0
5 479

Question ID : 97675510887

Q.12 A few ¢ usr A, € Fy= & a1 fAwreal d ar FAsrd 2 7 &1 sue! Ry 1y syl g
AT g, 9 & S Tedwna det @ (9= udia gia gf @ft st ot ufey Rk qa fifSig far Ry
TG ARl | & i AT ahEITd TU 8 SITER0T Rl 8, I8 Sdard a2 §o i gl

HY:
o fohara, &1 1
TS FIE, G &
Ans X 1. @t TS, fopemal &
X 2. 3o e, g
75 3. oft g, Rpara &
W 4 TR wEE

[_ Question ID : 97675510890

= = i = s e = /= = & —mm

Q.13 af ucdes g e g Qg awgedi/feamri st garfar 8, 9t 9 Sw= el w2 w1t oo & wad
AFR TH=Y ht F2ATYI

" wfge, e, Sas"
V2

Question ID : 97675510896

Q.14 Tk 15 st Y dfeh &, s1a sy i T gie f@wes sew,at ag gie sk 9 sned T wR gt
ST | AREH | Ufeh & 91 SR @ IHehT hi- T AT AT ?

Ans X' 1.7
W25
K3
p NG

Question ID : 97675510888




Q.15 = &t IR 3repfar, st smrepfa & ufaeu ot gu wEf?

Ans  of 1.
X 2
< 3.
p

Question ID : 97675510901

Q.16 39 fereu o1 999 &R, HaH 2real o1 e # ag) Heiy §, i Heiwr 1 Ry g 2reg-gr & et
h gl

frerera : sremm=
Ans X 1. fasfener : sreer
X 2. R : s

of 3 ARz g
/X 4. @oifR : SR

Question ID : 97675510885

Q.17 In the question below is given two statements followed by two conclusions. You have to
assume everything in the statements to be true, then consider the conclusions together
and decide which of them logically follows beyond a reasonable doubt from the
information given in the statement.

Statements:
Some corns are chillies.
Some chillies are potatoes.

Conclusions :
|. Some corns are potatoes.
Il. Some potatoes are corns.

Ans X 1.1f only conclusion | follows
X 2. If only conclusion Il follows
J 3. If neither | nor Il follows

X 4. If either | or Il follows

Question ID : 97675510891

Q.18 g 7y faeredt § Q, Soft d g s1eR g @t 7d Hifsgl
HANDWASH, KDNDWASH, ?, HANDZDSH, HANDWAVK
Ans o 1.HAQGWASH
75 2. HAQPVZSH
75 3. KDQGWASH
/5 4. HAOPWASH

Question ID : 97675510883




Q.19 &g g st A, = A fafSa srawal & o Heiw ot g21far man &1 HYF & a1 gt fAshd g g
&1 Y g T & SuR wR FAshut o1 sivmae RS ik 3R swR & gfAw

Ans

hY-:
U>H=Gz=zN;E<XN>W=0

fArsentd:
I.G>E
II.LH>N

X 1. arat e | ar i v §

of 2. et fred | T B

75 3. Tt e | ofe 7 & e || e @
/< 4. Fae e || v @

Question ID : 97675510892

Q.20 g g faereat & A, Soft & g ug w79 RS

Ans

M-26, P-32, S-38, V-44, ?
o 1.Y-50
K 2.T-24
75 3.2-52
/X 4.x-48

-—— —

Question ID : 97675510882

Section : General Awareness

Q.1 fore fA2aft Aar &6t 2021 F gzt Rraguor REFR fAer?

Ans

25 1. @ it
25 2. Fgge Am
W 3. Rt o

X 4. <SS g

Question ID : 97675510915

Q.2 "gft & = F R ggmt Ffaf@a 7 @ e s d e g2

Ans

X 1. BRI
75 2. dcr
W 3 T
7 4. arisr mRar

Question ID : 97675510904




Q.3 fA=feafaa 7 @ faa Tog &) AT deit & Rsrerer & srara & fog ST sTar 82
Ans X' 1. Ffcs

X 2. IRy
o 3 fEr
7K 4=

Question ID : 97675510902

Q.4 fA=fafaa d @ a9 @ yrRdT T57 7 ugel ar Jsa & gt = & sq ) aut s/a S9a= ==
ot ifard s=TaT ?

Ans X 1. gRarom
X 2.4
75 3. e

«4?—1‘&3?‘!‘5

Question ID : 97675510909

Q.5 =¥ Tah geiy Tiftd arerdsl YR & fohd s & @it ayer @ TEfaa @7
Ans  of 1 Rifden

75 2. Sreumree Hear
X 3.fEr
75 4. femrae wéar

Question ID : 97675510903

Q.6 1857 & fAgle & §Ha MR 1 eIk ST i AT?
Ans X' 1. faform g8 Safsa-dfees

/X 2. S Ugyg s seteft

o 3. =T St T

75 4. B

Question ID : 97675510912

Q.7 &R &t fFah FY ik wers & wu & 571 SI1en &2
Ans X 1. HiToheht

5 2.qm

K a0

s

Question ID : 97675510910




Q.8 “Red, TRt U aed fhemie T & forg foraT SiTaT @, a1 Te-ieh R g ?
Ans X' 1.3100°C

o 2.3380°C

75 3.1280°C

75 4.1200°C

Question ID : 97675510908

Q.9 frg sia=feha fohdher 7 2021 # ICC fAifRe 31t 3 ks fordhe sramE Sfiar?
Ans  of 1w g el

7K 2. & fafermas

7% 3. frme st

< 4. T Eias

Question ID : 97675510920

Q.10 i & e ergede & ded, §ue & 9HeT Uda faxita af & dau § wRar 6t srgarfa
it ik =g o1 faror uege = &1 vTaeTE g7

Ans o 1112
75 2.109
/X 3.108
KX 4

Question ID : 97675510906

Q.11 "A-AeY 31 fhahe" FfafEa & @ fore A grr
Ans  of 1. wEs R

/X 2. sfdes gt

75 3. s mnsfa

/X 4. 3w o

Question ID : 97675510914

Q.12 The interest rate paid by the banks to depositors is lower than the rate charged by the
banks from the borrowers. This difference between these two types of interest rates is
called what?

Ans X 1. Interest Deficit
75 2. Dividends

x 3. High Powered Money

J 4. Spread

Question ID : 97675510905




Q.13 gt e, FHieE gard ! foha sroemr Aar A af 1539 # <t & gg A wifSia frar an?
Ans o 1 RAEW

/X 2. 3 AigwTE @

75 3. srgwe s R

75 4. gofem <@

Question ID : 97675510911

Q.14 YRt QR |derr (AS]) & uge AR wiF 4, 8 YR Raa & fOar & wu 7 of
ST STTeT 87

Ans X 1. fa foremareit
< 2. ae
o 3. SR S
75 4. S it

Question ID : 97675510913

Q.15 ORI WRER 7 R &el &1 A FEeTeh 'dHH" @1, [STehT o1 dwpa d oo 872
Ans X' 1.

75 2. &t

75 3.9m
(4.3@%—«{

Question ID : 97675510917

Q.16 Uz "gHTSTarE) 3R dufazder” &t foha d@entes sifafaan
Ans X 1. 86 af gaiter sifafe, 2002

of 2. 42 ai Gt sifdfam, 1976
7< 3. 69 af Gaiter siffyam, 1991
/X 4. 44 9t aiter sifafam, 1978

Question ID : 97675510919

Q.17 5 Sft Aeadh & ST &l uaef #Ra arelt WRa &t ugelt greaR FHul e ot a7 7 87
Ans X 1. et ot

#< 2. omdfEar - s

7% 3. svagaa

o 4 s e

Question ID : 97675510916




Q.18 Wt d@fdur= & wrad s & vew w9 G & o fRra- ufafeat oft s d@fdur a=r ar?

Ans  of 1.97
75 2.99
75 3.69
75 4.66

Question ID : 97675510918

Q.19 2021 ¥ gfrars fordhe ulRug (qefieh) & g sreger & wu # RS g R mar 82
Ans X 1. ¥iRa et

7< 2. SR BTER

7< 3. maiich TR

of 4 vaamE

Question ID : 97675510921

Q.20 What number of elements are provided in the modern periodic table?
Ans X' 1.108

75 2.100
75 3.94
of 4 118

Question ID : 97675510907

Section : Arithmetic Ability

Q.1 U, FRAR TR TMAF R equa 6:7: 91 FR Rmanfa dawft g sk 116 &
308 foret it gft T Feelt 81 gan iR &1 <l wAT= THa & g gos w1y sfiea are @ 82

Ans X' 1.24 kmph
o 2.30 kmph
/5 3.36 kmph
75 4.45 kmph

Question ID : 97675510934

Q.2 U wHarg Riaget f Farg 6v3 J+t 31 39 vl o1 &rwmer e ghm et aama Brgst &
ofETg & RTeR 872

Ans X 1.
X 2
< 3.
v

Question ID : 97675510937




Q.3 What will come in the place of question mark (?) in the given expression?

382 + 60 percent of 1350 - 16 x 28 =7
Ans X' 1.1620

75 2.1842
/X 3.1956
o 4.1806

Question ID : 97675510923

Q.4 3= arferenTt Y <O @ YR 39 ITUR WR A U3y &1 IR |l

2011 & et SIS 3 ufderd & wu # arfior SeEEn

Ty 2011 & 21eR A i et urftor seEean (wrmaT) fRa oft?
Ans X' 1317

o 2 357

75 3.327ma
/X< 4347

[_ Question ID : 97675510939
=

=_ = = /= = & —mm—=

= == 2

Q.5 A= usr & ust g (?) & T R 4T A STQ?

Ans X 1.10

X 2.15
adda
v

Question ID : 97675510925

Q.6 3t g I & emurR Fi Hrsar fan &&= fear S1q &t =g de= @ e, g S & o |
200 ufasra siferes g1 Sirar & | ¢ Ao i Fard A ufara gfS/ad feah g€ 8?

Ans X 1. 50 ufasra
75 2.77.77 v
75 3.37.5vfEE
W 4. 66.67 ufdsra

Question ID : 97675510938




Q.7 e wan ¥ urw, faf s oAt d erfde & =g ofik g=a (Fuv &) &) gaufar &1

ie: 3 = =g + J9d

RfdE it wad, AT 3R w7 hir g w1 st 7 HifSigl
Ans  of 1.5800 zud
/5 2.6800 70
/X 3.6600 w0
75 4.6200 70

Question ID : 97675510941

Q.8 P 3R Q &l a<Ar 3y a1 srgurd 3:5 81 7 adf arg, Q Fi g 42 g gt i1 8 af ag P i
3y forareit ghfi?

Ans  of 120
K 2.
75 3.34a
/X 4.35a

Question ID : 97675510932

Q.9 f=fafaa Ol 4 9 gad 9 9= 79 HifSgl
Ans X' 1.
"V &)

-5 adda

Question ID : 97675510922

Q.10 T S T &1 60 ufderd, g gt W & 40 ufard @ 16 &7 81 afe gt dwansit o ant
120 &, ot <t Tt 3R SIE T | siaR aur 87

Ans X' 1.48
75 2.32
W 3.56
/X 4.88

Question ID : 97675510929




Q.11 wihar 60 fretfier Fit 8t T a9 ZRT 3R F© FR gRT 10 © & a9 wear g1 99 3 fFft/der f
Tifer & ars et § R R 7 frei/der i nfa & amn ael &, a9 Rt a9 i 7E @ 7a fifSg)

Ans X 1.8
75 2.8.5 fart
o 3. 7.5
25 4.7 fart

Question ID : 97675510935

Q.12 vt 15 =1 A geh & i Q=1 &2 Hehat &1 3 AT deh o dhext & a1g 36 |1 Raer anfie &
| afd & e T @ 3 sifafes R 7 qrr o €, At foRam Rt & Raer sréhet o opt g1 e
HeRdt &7

Ans X' 1.4
X 2.6
W35
547

Question ID : 97675510936

Q.13 U aafth 7 eras i gAt A, B 9k C & dff=r 1260 el it shwan: 2:3:4 & srgura & fRafa
A T e foaT, Afe Teredt & I+ fAaehl ot shAsn: 2:3:x & srgura | faaRe = R sz
39 a¥g C ol 39 Ryaanl @ 200 fRah &0 Aed &, it 33 fAem aret 21 x o1 | w1a fifSel

Ans X' 1.3
W22

/< 3.4
F N a
Question ID : 97675510931 ]

Q.14 Qah 9=RIA aht 3 aef & forg FrenRor sarst < 2% & IUR A mar an1 ot 3@ 2 ufaera sifdes =
R e mar glar, df 399 366 wud 31fden urd giad 1 y=RIfY 51 Rl

Ans X' 1.6000 ®ud
/X 2.6600 T4
o 3.6100 7@
75 4.7200 ¥

Question ID : 97675510933




Q.15 o= arfcient it e @ Ugehs 39 YR UR A Us &1 S<R &S

2011 # et ST & ufaera & &9 & it sHEE

g 2011 & 2AER G T 2AER F Y unftor s & i siar foraar ar?
Ans  of 1.231@m@

75 2.1.50 @@
/X 3.1.70 7w
75 4.1.40 ar@

Question ID : 97675510940

Q.16 Qe axg ol ITh! Siftha gea & (5/6) Fiwa R d== W= 10 ufasa & g1f gidt g1 afy s awg
& Sifeha gwa wR 5 ufdera 6t ge & st & at /g o afasra fraar ghm?

Ans X 1.3 ufaerd g1
/X 2. 2.6 vfawa g
o 3. 2.6 ufd@ ey
/X 4. 3 vfE @

Question ID : 97675510930

Q.17 The average of 5 consecutive multiples of 7 is 28. What is the average of the squares of
the first and last terms?

Ans X' 1.920

75 2.940
/X 3.960 a a
of 4980

Question ID : 97675510927

Q.18 Qe efm & 68 ufazrd sl 7 gefacad SR 47 ufdeE A saaci-aw o aft uds s w07 @
&1 Qo fawa dan @ arht an at sdfeeere ar segifad ofik 21 241 A 8, at e d ot st
Y e frat 872

Ans X' 1.70

o 2140

/X 3.105

/X 475

Question ID : 97675510928




Q.19 The H.C.F. of two numbers is 17 and their sum is 119. How many such pairs of number
exist?

Ans X 1.2
K 2.4
K3
o 43

Question ID : 97675510924

Q.20 e foneft Tzt st 308 @ faurfSia favar sirar & at Swwet 60 ure giar 21 S T Y sia 28
¥ fRanfSia fohar sy at Stwoher e e ghm?

Ans X' 1.14
/X 2.30
/X 3.8
o 44

Question ID : 97675510926

Section : General English

Q.1 Select the correctly spelt word.
Ans X' 1.Enreptured

« 2. Enraptured

X 3. Anraptured
75 4. Anreptured

Question ID : 97675510952

Q.2 Select the word which means the same as the group of words given.
Science dealing with the transmission and control of disease
Ans « 1. Epidemiology
X 2. Epistemology
75 3. Ecology
x 4. Entomology

Question ID : 97675510956




Q.3 Select the most appropriate antonym of the given word.

ORPHANED
Ans X 1.Rob
X 2. Deprive
“ 3. Parented

X 4. Strip

Question ID : 97675510951

Q.4 Select the most appropriate option to fill in the blank.

It is as difficult for us to understand adolescents it is for them to understand
us

Ans x 1. but

x 2. and
“ 3.as
x 4. for

Question ID : 97675510946

Q.5 In the following question, four sentences are given out of which three sentences are
grammatically incorrect while one is correct. Find out which sentence is grammatically
correct and select the appropriate option.

Ans X 1. In a post on microblogging site Twitter, the bank said that the fraudsters has

found new waysto dupe people.

/5 2. This gomes in the.wake of loan repayment maddﬂa
Reserve Bank'of India last month due to the lockdow

x 3. The customers get calls from the scamsters to share its OTP in order to postpone

their loan EMIs.

J 4. For those unaware, banks are offering grace period for their customers to skip
loan EMI payments till June 2020.

Question ID : 97675510942




Q.6 In the question given below, rearrange the sentences in the correct order, and choose the
correct option. The first and sixth (last) statements are given in the right sequence and are
fixed.

1. The Rubik’s cube was invented in the '70s, by Erno Rubik.

P. He had studied sculpture and architecture at the same university.

Q. He soon realized the object was a handy tool for teaching algebraic group theory and
spatial relations.

R. Rubik’s own first attempt to solve the cube took a month.

S. He was a Hungarian professor of design at the Academy of Applied Arts and Design.
6. Not to mention, it was a marvel of structural design.

Ans X 1.PSQR

o 2.SPRQ
/X 3.SRQP
/X 4.PQRS

Question ID : 97675510949

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution required'.

A chartered flight is being arranged to fly back Indians on board the cruise ship off the
Japan coast.

Ans X 1.being arranged

/5 2. arranged
( 3. No substitution required

x 4.is arranging

Question ID : 97675510945

Q.8 Select the alternative which best expresses the meaning of the idiom/phrase bold in the
sentence.

His statement is out-and-out a lie.
Ans  of 1. Totally

75 2. Slightly
X 3. Merely
x 4. Simply

Question ID : 97675510955

Q.9 Select the wrongly spelt word.
Ans X' 1. Occurrence

x 2. Opinion

( 3. Occassion

x 4. Opportunity

Question ID : 97675510953




Q.10 Select the most appropriate synonym of the given word.

QUARANTINE
Ans X 1. Integrate

J 2. Restrain

/5 3.Combine

X 4. Desegregate

Question ID : 97675510950

Q.11 Identify the segment in the sentence which contains the grammatical error from the given
options.

He wasn't just unconsiderate he was downright rude.
Ans x 1. he was downright rude.
x 2. He wasn't

J 3. just unconsiderate

x 4. No error

Question ID : 97675510943

Q.12 Select the most appropriate option to fill in the blank.

Canada has once again extended travel to foreign travellers till October 31,
i.e., until Halloween.

Ans X' 1. stipulation
/X 2.regulation
“ 3. restrictions

x 4. expansion

Question ID : 97675510947

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution required'.

Pancake Day is actually another name for Shrove Tuesday, which is taking place 40 days
before Easter Sunday and marks the start of Lent."

Ans ( 1. takes place
/X 2. took place
x 3. was taking place

75 4. No substitution required

Question ID : 97675510944




Q.14 Select the most appropriate meaning of the given idiom/ phrase.

Ans

Let someone off the hook
75 1. doing a good job
X 2. its too late for escape
J 3. let off from blame or trouble

X 4. to hold someone responsible for something

Question ID : 97675510954

Q.15 Rearrange the following sentences in their correct order to form a meaningful paragraph.

Ans

P. You can apply fresh mint juice over your face every single night to get clear skin.
Q. This is one reason why so many women out there are always on a lookout for

remedies for a clear skin.

R. Your skin starts to age sooner than any other body parts.
S. Pollution and an unhealthy diet can make your skin lose its glow.

75 1.QPSR
o 2.SrRaP
/X 3.RQPS
/X 4.PSRQ

Question ID : 97675510948




Comprehension:

Read the following passage and answer the questions below.

Isaac Newton was born in Lincolnshire, England in 1643, where he grew up on a farm.
When he was a boy, he made lots of brilliant inventions like a windmill to grind corn, a
water clock and a sundial. However, Isaac didn't get brilliant marks at school. When he
was 18, Isaac went to study at Cambridge University. He was very interested in physics,
mathematics and astronomy. But in 1665 the Great Plague, which was a terrible disease,
spread in England, and Cambridge University had to close down. Isaac returned home to
the farm. Isaac continued studying and experimenting at home. One day he was drinking
a cup of tea in the garden. He saw an apple fall from a tree. ‘Why do apples fall down
instead of up?’ From this, he formed the theory of gravity. Gravity is an invisible force
which pulls objects towards the Earth and keeps the planets moving around the Sun.

Isaac was fascinated by light. He discovered that white light is in fact made up of all the
colours of the rainbow. Isaac also invented a special reflecting telescope, using mirrors. It
was much more powerful than other telescopes. Isaac made another very important
discovery, which he called his ‘Three Laws of Motion’. These laws explain how objects
move. Isaac’s laws are still used today for sending rockets into space. Thanks to his
discoveries, Isaac became rich and famous. However, he had a bad temper and often
argued with other scientists. "You stole my discovery! Sir Isaac Newton died in 1727 aged
85. He was buried along with English kings and queens in Westminster Abbey in London.
He was one of the greatest scientists and mathematicians who have ever lived.

SubQuestion No : 16

Q.16 What is Gravity as described by Newton in the given passage?

Ans

x 1. an invisible force which decides how an object moves in the sky

« 2. a force that pulls objects towards earth and keeps'the planetmovingarotnd the
Sun

X 3. aninvisible force which pushes a rocket to move up into the sky at some angle

X 4. a force'that repulses objects'and keeps the p no lid

Question ID : 97675510960




Comprehension:

Read the following passage and answer the questions below.

Isaac Newton was born in Lincolnshire, England in 1643, where he grew up on a farm.
When he was a boy, he made lots of brilliant inventions like a windmill to grind corn, a
water clock and a sundial. However, Isaac didn't get brilliant marks at school. When he
was 18, Isaac went to study at Cambridge University. He was very interested in physics,
mathematics and astronomy. But in 1665 the Great Plague, which was a terrible disease,
spread in England, and Cambridge University had to close down. Isaac returned home to
the farm. Isaac continued studying and experimenting at home. One day he was drinking
a cup of tea in the garden. He saw an apple fall from a tree. ‘Why do apples fall down
instead of up?’ From this, he formed the theory of gravity. Gravity is an invisible force
which pulls objects towards the Earth and keeps the planets moving around the Sun.

Isaac was fascinated by light. He discovered that white light is in fact made up of all the
colours of the rainbow. Isaac also invented a special reflecting telescope, using mirrors. It
was much more powerful than other telescopes. Isaac made another very important
discovery, which he called his ‘Three Laws of Motion’. These laws explain how objects
move. Isaac’s laws are still used today for sending rockets into space. Thanks to his
discoveries, Isaac became rich and famous. However, he had a bad temper and often
argued with other scientists. "You stole my discovery! Sir Isaac Newton died in 1727 aged
85. He was buried along with English kings and queens in Westminster Abbey in London.
He was one of the greatest scientists and mathematicians who have ever lived.

SubQuestion No : 17
Q.17 Why did Isaac Newton return home from Cambridge University?

Ans { 1. because the university hadto close down as there spread.'Plague’
x 2. because he was failed in the entrance exam of the university
x 3. because the university denied his admission to its campus

X 4. because he cannot afford the expenditure at university

Question ID : 97675510958




Comprehension:

Read the following passage and answer the questions below.

Isaac Newton was born in Lincolnshire, England in 1643, where he grew up on a farm.
When he was a boy, he made lots of brilliant inventions like a windmill to grind corn, a
water clock and a sundial. However, Isaac didn't get brilliant marks at school. When he
was 18, Isaac went to study at Cambridge University. He was very interested in physics,
mathematics and astronomy. But in 1665 the Great Plague, which was a terrible disease,
spread in England, and Cambridge University had to close down. Isaac returned home to
the farm. Isaac continued studying and experimenting at home. One day he was drinking
a cup of tea in the garden. He saw an apple fall from a tree. ‘Why do apples fall down
instead of up?’ From this, he formed the theory of gravity. Gravity is an invisible force
which pulls objects towards the Earth and keeps the planets moving around the Sun.

Isaac was fascinated by light. He discovered that white light is in fact made up of all the
colours of the rainbow. Isaac also invented a special reflecting telescope, using mirrors. It
was much more powerful than other telescopes. Isaac made another very important
discovery, which he called his ‘Three Laws of Motion’. These laws explain how objects
move. Isaac’s laws are still used today for sending rockets into space. Thanks to his
discoveries, Isaac became rich and famous. However, he had a bad temper and often
argued with other scientists. "You stole my discovery! Sir Isaac Newton died in 1727 aged
85. He was buried along with English kings and queens in Westminster Abbey in London.
He was one of the greatest scientists and mathematicians who have ever lived.

SubQuestion No : 18
Q.18 Which of the following statements is incorrect according to the given passage?

Ans { 1. Isaac Newton went to study at Cambridge University,.in. England.in 1665.
x 2. Isaac Newton also invented a special reflecting telescope, using mirrors:
x 3. Isaac Newton had a bad temper and he often urged with other scientists.

X 4. When he'was a boy, he invented a windmill to grind corn a

Question ID : 97675510962




Comprehension:

Read the following passage and answer the questions below.

Isaac Newton was born in Lincolnshire, England in 1643, where he grew up on a farm.
When he was a boy, he made lots of brilliant inventions like a windmill to grind corn, a
water clock and a sundial. However, Isaac didn't get brilliant marks at school. When he
was 18, Isaac went to study at Cambridge University. He was very interested in physics,
mathematics and astronomy. But in 1665 the Great Plague, which was a terrible disease,
spread in England, and Cambridge University had to close down. Isaac returned home to
the farm. Isaac continued studying and experimenting at home. One day he was drinking
a cup of tea in the garden. He saw an apple fall from a tree. ‘Why do apples fall down
instead of up?’ From this, he formed the theory of gravity. Gravity is an invisible force
which pulls objects towards the Earth and keeps the planets moving around the Sun.

Isaac was fascinated by light. He discovered that white light is in fact made up of all the
colours of the rainbow. Isaac also invented a special reflecting telescope, using mirrors. It
was much more powerful than other telescopes. Isaac made another very important
discovery, which he called his ‘Three Laws of Motion’. These laws explain how objects
move. Isaac’s laws are still used today for sending rockets into space. Thanks to his
discoveries, Isaac became rich and famous. However, he had a bad temper and often
argued with other scientists. "You stole my discovery! Sir Isaac Newton died in 1727 aged
85. He was buried along with English kings and queens in Westminster Abbey in London.
He was one of the greatest scientists and mathematicians who have ever lived.

SubQuestion No : 19
Q.19 Which of the following best expresses the opposite meaning to the given word “Terrible”?
Ans X' 1. appalling
/X 2. dreadful
J 3. congenial

X 4. horrific

Question ID : 97675510961




Comprehension:

Read the following passage and answer the questions below.

Isaac Newton was born in Lincolnshire, England in 1643, where he grew up on a farm.
When he was a boy, he made lots of brilliant inventions like a windmill to grind corn, a
water clock and a sundial. However, Isaac didn't get brilliant marks at school. When he
was 18, Isaac went to study at Cambridge University. He was very interested in physics,
mathematics and astronomy. But in 1665 the Great Plague, which was a terrible disease,
spread in England, and Cambridge University had to close down. Isaac returned home to
the farm. Isaac continued studying and experimenting at home. One day he was drinking
a cup of tea in the garden. He saw an apple fall from a tree. ‘Why do apples fall down
instead of up?’ From this, he formed the theory of gravity. Gravity is an invisible force
which pulls objects towards the Earth and keeps the planets moving around the Sun.

Isaac was fascinated by light. He discovered that white light is in fact made up of all the
colours of the rainbow. Isaac also invented a special reflecting telescope, using mirrors. It
was much more powerful than other telescopes. Isaac made another very important
discovery, which he called his ‘Three Laws of Motion’. These laws explain how objects
move. Isaac’s laws are still used today for sending rockets into space. Thanks to his
discoveries, Isaac became rich and famous. However, he had a bad temper and often
argued with other scientists. "You stole my discovery! Sir Isaac Newton died in 1727 aged
85. He was buried along with English kings and queens in Westminster Abbey in London.
He was one of the greatest scientists and mathematicians who have ever lived.

SubQuestion No : 20
Q.20 How was the theory of Gravity formed by Newton?
Ans X' 1. after seeing a bird flying in'the sky and falling

/X 2. after throwing $ome pebblesiinto sky to fly
75 3. after seeing/an pineapple not flying in the sky

( 4. after seeing an apple falling down instead of going up

Question ID : 97675510959

Section : General Hindi

Q.1 fA=fafae d @ aga e o1 9g= fifsg-
Ans  of 170

X 2.qw

75 3.3

X 4.1

Question ID : 97675510964

Q.2 f=afaf@a & @ dllfs "= g1y STy &t T 31 &7
Ans o 1. < o ohrd e et ST el 81

#< 2. 35ER &1 TERTI

75 3. et cafth §© oft T o TehaTl

75 4. wmdifes a1 & e aet sreeT gar &1

Question ID : 97675510976




Q.3 FRafaf@a & @ wF-ar 2res "sr=awor" &1 vafger T8 §?
Ans X1 ety

of 2.

75 3. mawor

75 4.

Question ID : 97675510967

Q.4 fA=fafaa d @ "wreff=" § Flqa-ar gua &2
Ans o 1. ey T

X 2. st garg
X 3. g wmm
X 4. e

Question ID : 97675510963

Q.5 F=faf@a # @ -1 g U 1 UgiT R ST T g?
Ans X 1. srasr

75 2. g
75 3. e

W 2 T

Q.6 FAfaf@a & @ "wfca” oy g Sia-a18?
Ans X 1. whuff

(Z.ar&rﬁa;
/X 3. e

75 4w

Question ID : 97675510965

Question ID : 97675510969

Q.7 = Ry g gt & -8 Rieg @1 v foran man g2

ToTey ulRem &var &, fh ey gefiufa svemar g1
Ans o 1. srcaferm qd offerm R
75 2. direrfaRm gd quifeRm forg
X 3. woifeRm v srgferm R
75 4. sreufarm ga sigfarm g

Question ID : 97675510977




Q.8 = feu 71q arerm & v & @ R hRep a1 SeETERUT 872
%= 9 s it fem &
Ans  of 1 o
75 2. SUIEH FRE
7< 3. Fdf ar

75 4. 0T B

Question ID : 97675510974

Q.9 f=faf@a d @ sigg ad- aret ereg o1 9o+ RifSig-
Ans  of 1. ey

75 2. srpatha

X 3. wsdeor

X 4. fgda

Question ID : 97675510968

Q.10 F=fafEa 7 @ geest "wen ud & 3§ SET" o1 71 3 82
Ans  off 1 s

25 2. 7t arifey v
75 3. @ter ar ardes dfthl
X 4. wga wfie A @

Question ID : 97675510975

Q.11 FafafEa § & SfiferT e o1 == Hifsg-
Ans X 1. efieft

X 2.

/X 3. v

VA.E'WW

Question ID : 97675510972

Q.12 F=faf@a # @ H-41 2reg 7w geydaras 9494 8?2
Ans X' 1.#

X 2.

@

5 4TE

[ Question ID : 97675510966




Q.13

Ans

fA=fafEa & @ area & vehR &1 99+ fifsg-
gigl lga w81
X 1. freraraes awe
fzﬁwﬁa‘rwanaa
25 3. wgaras A
X 4. sETe AT

Question ID : 97675510973

Q.14 F=afaf@a 7 @ sigg ad- aret area o1 ag= fifsg-

Ans

X 1. afts ) & s ol
X 2. 39 e o T WEROT USRI B 38T 31

2 3. SaaR Hart TRg-farear 1

of 4. ST S G

Question ID : 97675510971

Q.15

Ans

fow g areryiar & AT ek 2MeE 1 TTA Hifsg-
1Y T arelt SiY-

v SR

5 2. e

25 3. fom

X 4R

Question ID : 97675510970




Comprehension:
f=fofea merisr &1 eamgden stegde e UeHT & Ik AIfTg-

Teepfaat & fmfor 7 e i den 21 ofR Sfd o1 ahTe t8aT 81 IRl & Oo SueH of ura: gt
Guepd SR T 321t Y Teh AT o THH T8 €, foheg aTga IUTETAT H SfaR Srasy S1TdT &1 IR At
ST &R T Te ST ARG A6t ¢ foh I8 81 S1U- g hl UTFIRT & THJe ST &, STuT dfd-
A Fr duer @ A= 781 R &t &1 ot & g & Iy v sifag depfaal & e & saer iy
G 81 71 8, Apfa al TREaRes duy off & 8t T 81 g G et goa gAR ST R U @

8. Foreh s1Tdier # &6 W Sruet TRepiar & uf Terarq & e 81 g et fre &t 81 s gt
TR GeeldT o1 Thel &1 3T Tl ot Big faaft Tepfa & fadeg Srgemur @ AR Ied kg &t
S 39 ugd 3@ &, I8 fohdlT et Sinees eafth & fovdt 8t €1 ﬂmmﬁmaﬁ?mﬁw
ST X6l &1 31d: 3ATST & d1i-eh g1 & g fohelt off fageft depfal & Sfidd aat ot ugor st & Ui =18t
g1 =g, o o+t Wiepfren M 2t ITar &heeh 8| T8 URTaeiarT 7eg ehl TRAT & SIFT 61 &1 T8
TROT 3@ =R foh gF &t srretteruetii fenort & die et =g vt sfiasitarfts e, foamg Sroht St
SR SO STS o fareT At e Shifad 781 6 Tehar 81 SifadehT STgentuT, ST ol & 1A g

SubQuestion No : 16
Q.16 Iufer Trerier # uger forar war eres “wHrraTe” @ Fefaf@a d & aar oref g2
Ans X' 1. Gaffiies wie e are At
25 2. foreht oft zrfer &t ardl @t g e are|
V 3. 317 a1 F g FAaren
25 4. oo+t ATt ot gt & shger are

Question ID : 97675510983

Comprehension:
frfofea merisr &1 eaFgden sieaa= e URHl & Ik &g

Wﬁﬁ%ﬁﬁmﬁw%ﬁmﬁ%ﬂaﬁ?aﬁmmw%mﬁfﬁﬁ
gawpd SR T 3211 i Yen AT I T I8 &, fohrg 6T
ST T¥epfl ol Heardl S1ST ANTE gl & foh a8 g4 S1u+ g
=fifer <ht orer @ fafed=1 T8l g1 &t 81 31Tl o g1 & A
G 1 Y &, YEpfadl ol UReies Tuw off I[E &l T 8| T©
2.5k arrde & g W ool Teepfar & ufa derarq o fam &1 gt e e &Y & 78 T
FaTReR geleTdT T el &1 ST Hepid ol BIS fagef Tepld & fadehs SIgeuT ¥ §AR IS 71Ra aht
it &9 uga 2t 8, a5 fonelt regunft Stees cafts & Rt A &)1 st wpfar F T ofk Tgor Y srga
T 3BT 61 31d: TS o JF1-eh T | g fohelt oft fagelt dwepfa & Sfida ot @l ugor o & Ui 718t
g1 =g, o ot Wiepfren Y ht ITar ek 18| T8 URTaeiar 7sg ehl TRAT & SIIFT 61 &1 T8
TIRUT T MR o G Y srettenyrarfa=ft faeont § tie et arg e shiaeitarfs A, faeg sroeht i
3R STt STei & fomT et dten SHfa 781 8 Tehar &1 sifddehT srgereor, s & &t uafa &

SubQuestion No : 17
Q.17 Iudad Terier & IR, gH fa:ft @pfa & agaygef a«i wf ugor = Td g, Fifh

Ans X 1. fdeft wgpfar, el depfar & amer 2ar & forg ameeres 81
W 2. e T # T ofk wgur Y sregd e <6 )
25 3. T & ary fafe At i gl st gor aan st A & forg sifard ghar 21
X 4. R STy @ L3 T AT ST-Sfta g gt %61 &1

Question ID : 97675510980




Comprehension:
fforfEa merisr @1 eamgden stegde e UeHT & Ik AIfSTg-

Teepfaat & fmfor 7 e i des 21 SfR Sfd o1 ahTe t8aT 81 I%pid & g9 UM of ura: gt
GuTepd SR T 321} Y Teh AT o THH T8 €, foheg aTga IUTETAT | SfaR STy S1TdT &1 IRy At
ST &R T Ta ST ARG A6t ¢ foh a8 81 S1U- g hl TIFIRT & THJe STd &, STuT dfd-
A Fr duer @ A= 781 R &t 1 ot & g & Iy v sifag depfaal & e & saeR aifd
G 81 71 8, Awpfa al TReaRes duy off & 8t T 81 o G et goa gAR ST R U @

8. Foreh S1Tdier # &6 W Sruet Teepiar & uf Teranq & e 81 g et fre &t 81 3 gt
FaTRen gelerdT T thel &1 ST Tepfd ot Bie fageft Teepfa & fadewela srgeneor & gAR ITsd 1ka
I 39 ugd W@! &, I8 fohdll IeghiHt Siiees eafh & fodt 8t €1 ﬂmmﬁmaﬁ?mﬁw
ST 6l &1 31d: 3ATST & AI-eh g1 & g4 fohelt off fageft depfal & Sfidd aat ot ugor st & Ui =18t
TG Arett, fohrg STuY Titepfaien fAfer &t IT&T ah 8l I8 URTae IISg chl TRAT & S1EY ol &1 T8
TRUT @1 =1y o G A srrefterueriiT foneor & e ot are St shiafieifs e, foaeg sroht sefer
SR SO STS o fareT At e Shifad 781 36 Tehar &1 Sifadeht STgentuT, ST ol & Tafa g1

SubQuestion No: 18
Q.18 Sufer mrerizn & uged it 7 21z gd e g i g st @ gm= HifSg-
Ans X 1. epf v e
< 2. 31gd v sifgefta
75 3. ST O ST
o 4 g T

Question ID : 97675510981

Comprehension:
frfoifea merisr &1 eagden Sieaa= e ULl & Ik AIfTg-

Wﬁﬁ%ﬁﬁmﬁw%ﬁmﬁ%ﬂaﬂ?aﬁmmw%m@%aﬁ
gawpd R T 2211 i Yen AT I T I8 &, fohrg 6T
ST T¥epfl ol Heardl S1ST ANTE gl & foh a8 g4 31U+ I
fifer <ht orer & fafes=1 T8l g1 &t 81 31Tl o g1 & AT
G 1 Y &, YEpadl ol uRedies ue off ;[F & T 8| T©
2.5k arrder & g W ool Teepfar & ufa T o fam &1 gt e e &Y 78 T
AT geleTdT T el &1 ST Tepid ol BIS fadef Tepld & fadehs SIgeuT ¥ §AR IS 11Ra ot
it &9 uga 6t 8, a5 foneht regpnft Sees cafts & Rt A &)1 st gl F T ofk g Y srga
AT 8T &1 31T: STTST o aIf=ieh g A oA fohelt off fdaft deepfar & Sida aet &t 7igor et # e =1t
g1 =g, o ot Wiepfien QY ht ITar ek 18| T8 URTaeiar 7sg ehl TRAT & SIIFT a1 &1 T8
TIRUT T MR o G Y srettenyrarfa=ft faeont § tie et arg e shiasitarfs A, faeg sroeit st
3R STt STei & o g dten SHfa 78T 38 e &1 sifdddht srgeeor, s & &t uafa &

SubQuestion No : 19
Q.19 IufeRT TTeXieT & SIHR, AT IT ST SEpfd 1 G99 a1 aheF gat ¢, fh ag ad

Ans X' 1. fardeft arg &Y wremR & wRge S 8
W 2. 1 g Y oo & wrge STt 8
25 3. 3 g Y fadeRgi TReRT SRt ST B
XA_amﬁmgaﬁuwaﬁﬁ%m?ﬁ%

Question ID : 97675510982




Comprehension:
ffofEa merisr &1 emgden stegde e ULl & Ik AIfTg-

Teepfaat & fFmfor & gen i den 221 ofk Sf a1 e T8aT 81 Ui & ge U ot o aeft
R 3R T 220 Y Tep AT doh THH B &, foheg ST IuTETHT | SR S1aRy S1TdT &1 ASE AT
ST &R T Ta IS ARG A6t ¢ foh a8 81 S1U- g hl TIFURT & THJe STd &, STuT dfd-
i i T @ AR e 8 &t &1 ore & g & Wy gd S Teepfert & e 3 sraeR aify
G 81 71 8, Apfa al TReaRes duy off & 8t T 81 o G el goa gAR ST R us @

8. Foreh s1Tdier # &6 W Sruet TRepiar & uf T & e 81 g et fre &t 81 s gt
AR GEETdT T el &1 U TEhia i Big fARef Tepfa & fAdend Srgeor & gAR Use 1k Y
STt ¥ uga & 8, ag fenelt gt S cafts @ Rt e &1 sTRelt Tepfar & @mT o wgur Y srga
ST 3BT 1 31: TS o JF1-eh T | g fohelt oft fageft dwepfa & Sfida ot @l ugor e # Ui 71gt
&1 AT, foheg STuft Fieepfaren ARy Ry e ahedh et | T8 WRideieH g it TRAT & Sy A &1 T
TIRT T AR o G Y srrettenyranfi=ft faeont § tie et arg e shiaeitarfs A, faeg sroeit s
SR SOt SIS o fareT At dten Shifd 781 8 Tehar &1 SifaaehT STgensuT, ST ol & Tafa &1

SubQuestion No : 20
Q.20 F=faf@a d @ Suda werian o1 3R fides Hia-a1 82
Ans X' 1. Twpfa & HeT IR
JZ.Wmml
25 3. et Teepfar e SR
X 4. el & g S|

Question ID : 97675510979

Section : Discipline1

Q.1 IR URa & fAfvz v & gareensia sreaas: 9 uar fr
fFreafafes w foar & sk 57 aEl fi rgam A &
i) R,
i) <1,
iii) TTfaYy / IurTfar
iv) reafen Redert
Ans X' 1. Fad i, i 3R i
/X 2. FaaiaRii

o 3. i, i iR iv

/X 4. Faai, i iR iv

Question ID : 97675511000




Q.2 sfgsita gfg fgia & @9 d Ao d @ s T HFu aa 8?2
Ans X' 1. @i wfae & forg afdsia Afse ge fiig de ST wed & Afer Rt it ot g e &
oI e TFa ek STUHTET T8 8 clfche ATHTTOIh-TEINTd STEJeT ehl B e dehd 6
2K 2.z ufere & fag afesiia wisa ge fiig de o aed § ofk Rt et ofik amfores-
TR e I gl e & oY oS THG ek T7ell I Tohdl &
ZX 3.z ufer & foarg afgsifa Aisa ga fiig de o1 aed § ok Rt &t at g1 ahe & farg
e TG Teh THTE I§ Fehd & lchT TTHTTSIh-HeINTd STEJe hl ThH gl e Gehd
14‘Wﬁm¢mmmwﬁgﬁwméﬁmmmaﬁ?wﬁﬁ—
GEATT ST ohl B el oh [o1Q Tidl T dch ST 8d &

Question ID : 97675510996

Q.3 fafafaa d @ @ @ sivft & FrRER ysiiepa Ao & (s/ FrE & aga) @ d@dfoa §2

Ans x 1. SMYR a¥ # 10 a1 3MfdH (AT 10 T ) HAfBen! i SIS A aredt R haet farsteft @
YT e aredt Shiceat

x 2. hael IMYR a9 | 20 T ik (A1 famT fasteft & 20 @ & Afihl) wt AR & aret FRE
J3. SMYR g H 10 A7 1Y (A1 10 T HH) AfFeh] ot SR 7 aTelt 7R fITelt o1 T e
arett, a1 20 a1 31k (a1 fomT fesTeft & 20 § & siffen) f ISR 3 aTet FREH,

X 4. Shadt MYR a8 | 10 T 31feIeh ARl ot RHfia @ arett 3R fasTell o1 SuahT &hq aretl,
a7 {1 fsteft & 20 ar sifdies ot RafSid s areft et

[_ Question ID : 97675510985
Q.4 31é g2fT (Desert philosophies) & & Teh a1 MR "ad2ts &1 fFaa" 21 F=fef@a 3 @ e
59 &2f I Feprera HI?
Ans X1 Ticed
/X 2. gen @y
W 3. it 2RE
X 4w

Question ID : 97675510997

Q.5 arIfSIe @19 3R AR & @t & faror & Rigial d € e & 'smasgehar & R faaror'
Arafaf@a & @ a9 39 Rigia &1 aads @ - 'Sare & 91y AradT & angfes i g &
HRYT ITE STife A Irgfees duf g+t @ifde) arfemra faffahr = &t moeina @ ok 7 & ar
oF Y| 99 a1 &1'?

Ans X' 1. gen fEry
X 2. e
/X 3. Sitef 3R
o 4. et

Question ID : 97675510998




Q.6 fF=afafeaa d§ @ f eroi & 1980 & z2re d ardwe & ol B1 3k gwdiar sl 78, a2
TH & ufasEl & ReTE dewra w=A F #Aeg fi?

Ans X 1. TRam, fder ticare o ot fion
x 2. Tzerur, Ady Miaared, ok ueafa
o 3. dzem, PR icare, ot T o Fae|
/X 4. TRar ik Tad

Question ID : 97675510986

Q.7 T R 9 & IR d F=fafla 9 & o9 a1 Fu= g« 78 872
Ans X 1. ge 3t afefefardt Soft @t gt amer T 81

o 2. T & e T creenn iR rech ATl o T &

75 3. Rgaft &, ot ot 7 & w0 F ST STl 81

#< 4. 90 o sRffarel g 21

Question ID : 97675511001

Q.8 HY g A srtumRes &5 Fi o fAtuara i =ie fhar & St 39 89 & sfdw! Hi ivaRa
&3 oot T g1 FfafEa J @ ie-an sriu=TiRe & &Y faLivar i 82

Ans X 1. ST T
( 2. Faer & 3= af
75 3. & A a1 ISR
X 4. B & A ER

Question ID : 97675510989

Q9 3 yvfRderar &t 99 ufskar & wu § aRaiRa
&5t pt enfefer Tyt ofk uefiert & o< @ ger Rar sirar 81

Ans  of 1 e
72X 2. o ferw frewm
7< 3.5 e
75 4. Sirst St gieftoita

Question ID : 97675510992

Q.10 Tg saran & ok emfaror a9 g glar & 5ie 'vmiala g aret’ & 79 A g usi 3ad &1 A«
fafra qafugl & desf F ara st g St emfazor ufehar = &ed §1 Fafafe@a d @ wla-an
qatug 78 82

Ans o 1. T Troifares e @ g STt oe Ry e or senRa @

75 2. o ot & wrr Y <ael & S vt weTaehTY et A e
X 3. 3@ IR e Y A e St endfRder wrem @ g A gt @
2K 4. unfifes amer & mrem & Sftew & wrett ofk smafeat & IR @ier &1 warg

Question ID : 97675510994




Q.11 usfARderar rsg 1851 & Sitst Stehd glefiaiieh ZRT ST foha wan| enffRderdr ereg @1 uwa
R & Ugd, giefteiles A fohe 2real wR faamR frar?

Ans X 1. snfeeRar SR AT
75 2. snfeychar o Himrare
/X 3. Tfaerare o snfReesar
o 4. TicRar o Hemare

Question ID : 97675510991

Q.12 ¥RA #, 30+ &t SR Teml d R RAfduar are 21 &, ga Redert gonferat Y g e
St Ut g ok 391 Rederdt vonfert i g awfiz ger sw=ar sme Al @1 sarernfeat 3 d2r
o &t wa iifore & 3k % IR # a1d T &1 v fRar g1

Ans X' 1. ufgw, qd
75 2. fawr-gd, Iw-ufgm
7% 3. ufEm, IR
of 4 s <@

Question ID : 97675510999

Q13 A'$R G @' & UKT &l dedTah ‘T 8 SR &' o Rami
Ans x 1. @ fadere

/X 2. ST 5w
W 3. miefsh
X 4. g O d

Question ID : 97675510993

Q.14 9Ra # U 9 areft Redert vonferat 1 aufa A F BT |, A 9R Hiwplasw
it Y ggar Y, srufq <t wem, afdioft si ooff &

Ans X' 1. feiera
75 2. sife ga
W 3wt ad
X 4 s

Question ID : 97675511003

Q.15 g sftu=niRes A & ZR1 h S areft afafafat anfae &
Ans X' 1. Fg THR, I5T TWHR R W TR

/X 2. HdRe e
7 3. &g TR
(4.%@,%%,@%@?%@%

Question ID : 97675510984




Q.16 wrf WrfierRt srgura (P & dgef ) F fhe uerr aRnfde forar mam 82
Ans  off 1. qew o iR SR o e S & ofder |

/X 2. Teiftr sTere & Afger sifden st ufaerd|

7< 3. 7z ofk wfe sifiit & ufdera @ orguTa

/X 4. Gt Sree # qew sffient e afasra

Question ID : 97675510990

Q.17 fA=fafEa d @ &4 91 wu= 9w 87
Ans Jmaﬁqmﬁmwﬁﬁ%ﬁ@ﬁ—muﬁaﬁﬁ;ﬁaﬁ?mﬁaﬁaﬁ?ﬁmmwémﬁs
SIS &3 &I ®U ¥ 9 Mg 3R Wit ekt a1 IughT shear 81
25 2. ftoarie dfse & - enfhfdt sfiz waft denfidt o ST aar & srafs
IS &5 Y U T o1 T Hienfiiht 1 Iuah st &1
75 3. sftuarie wfed & Tl deififet T ST et & Srafds srfea 8 g wu § am
g1 Tenfirchl T IuaT aheelt 21
7K 4. shoaRes sfsd & smanfad denfidhy @ Suai avar § Stafes srimfea &5 qrer w0 & guft
g 3R Tt Hrenfireht a1 Iuzh sz g1

Question ID : 97675510988

Q.18 umfaRoT (Proselytism) foreht zafh & urfifer gf¥wtor &t geem & fog sae Ryt ofk waf Ht
T &1 waE g1 Aafaf@a d | frg onf A emfazor (Proselytism) & fore we sigafa sz

e fRam @2
Ans X' 1. fég e
/X 2.3
W 3. o o
/X 4. dg o
Question ID : 97675510995
Q.19 % 2regl #, IR Fedl o FaH & ITER, Yah YT Sl I Afger & A1l g

anfeq it (i) I Rar F M= Hr &, (i) 39 Arar & M= hr g, (jii) ISTSH ar & w@rar & M=,
3R (iv) TS AT R AT F MA A &l |

Ans X 1. it gE8
/< 2. e
W 3w
X 4 shoagd

Question ID : 97675511002




Q.20 wer= w3ft o1 gehiepe et Tt 3= wrdsRe (d.gw.end g bt §.dt) 1995-96 & Sk fafe
I dl & A1y I e war ar? @ F=fof@a d @ wla-d 47

Ans X 1. dhaet ATETRIE Gufthevor, ISR o
/X 2. dact Ao & 3 Aad T Iudfed, arariies dx1ftheRoT, AR For, 3R P S|
25 3. Faa argeTies g, AR o, iR St I

JA.W%%H@@W,WWWW,@Ww, RIS IFT, 3T
37T SR ygfaRor ger|

Question ID : 97675510987

Section : Discipline2

Q.1 F=fafaa 7 @ 9 a1 vy '®s o e whm' ok 'Ae 37 fear Frfeat & ar o adt =@
2?

Ans X 1.3 ASHTR et ¥
o 2. 3 ETRg & arit & et Bl Hew T e
< 3.3 gifg & o & e 1 waw o
7K 4. 3 TRISIR S

L Question ID : 97675511004

= =——— i = === == 5 = oo = —m=————==x

Q.2 ¥RA & UTH HIfSAh-Hisepicdeh Uz i 6l 95 R 8 | 39 daad A FEr g,
et erared) $91 g @ Wl waTe ur Rwfowi asf fir g g1

Ans  of 1 ale
X 2. qa di g
X 3. s

/< 4. dteR

Question ID : 97675511008

Q.3 'fig RremEr, Hiwmr ger ofk aaRig' AW gead fheam fodt @ it onfl off ura & gt &
forg geuam 82 ag snfa ok snfal & sfia siawfdel @ sreoaer et aret uget «ihil & | ger 2

Ans X' 1. @ gdE Rt
75 2. i g
W 3. o= goew
p R

Question ID : 97675511013




Q.4 & TuTgET 1797 # fay ufdig dvpfafag siik wirafag wr fafems siiwa & i o
Ans o 1. < g wraTed Sifth e, et

/X 2. srepefies TERger, sedar

27X 3. Aot g, e

/X 4. T o raTsd, e

Question ID : 97675511015

Q.5 fA=faf@d syt d @ sqar g 78 82
Ans X 1. 9Ra # sifRreter et orfies & A arika &

X 2. T 22t & ifRrepiar i Qar 8t & &
75 3. R it  agtiens siuaRe = § wrika &)
of 4. Frashier 3 § agae o a1 & F Frivd ga &

Question ID : 97675511006

Q.6 Il gRI A ™ Rl daR &R & fag fasdwor 6 g
Ans X' 1.7a

75 2. 3u-vea

75 3.

W 4 R

H

Question ID : 97675511021

Q.7 fFE= 3 1957 # Uah sram= @, 'vRe &1 SaSine s 31T
Ans  off 1. ST iR Hichich

X 2. s

/X 3.

75 4. Rges ok diais

Question ID : 97675511009

Q.8 gurEth fi Rute & rgar, Ara e 6 morn g aHfiazor gr1 6 7 o6 T e g1
Ans X 1. H1a feTe &Y o = 1/2 (e e e T He) + 1/4 (R Gedhics 1 ge) +
1/4 (STETdY Faehieh 1 7e)
of 2. T Rk & O = 1/3 (S SRR Geehich T Hed) + 1/3 (el gechich o1 Hed) +
1/3 (St gaeriar o1 o)
75 3. TrTa Rk Y U = 1/6 (Sfta Tea Gaehih o ) + 1/6 (e aehich oht ) +
2/3 (TSt gaehien 1 7ea)
75 4. mrTa R &Y O = 1/4 (S S gachics T ged) + 1/4 (Rien geahic H1 gea) +
1/2 (STEdt gaenich a1 7o)

Question ID : 97675511019




Q.9 fF=fafeEa & @ wiF-a1 1995 # gu=Eidt i Ara e Ralé a1 g ar?
Ans X 1. wrdife @

75 2. fam
(3.%@%

/X 4. e @

Question ID : 97675511017

Q.10 ¥S9-uTda A &9 A9 & 39 AR @ et ARty farar 6 R nia Faer g & uhR o Tl
SS7-UTdd & IFHR, WRA H &1 STeT-3eHT UhR & g &1 I = &2

Ans X 1. SfeR a1 g M ok onfifes w & ameAfaR
X< 2. arifaes w0 @ w@rr ok onfifes w0 & st

(3. TSt a1 IR-STHIGR AT YeRed! 3R STHIER a1 Tg<h i
25 4. aardl a1 R-srfier a1 deredt ok anfifer w0 @ sreAfR

Question ID : 97675511012

Q.11 1974 %
g faRami

Ans X 1. wrf gdta
75 2.8 s
7K 3. R & ety
o 4 e fRe

F ool g 'Aagere Uit d aw it Hvaen &t 'Rgeer & wu d

Question ID : 97675511022

Q.12 2003 & gu=didt Ruté ara it w T we & forg
el g1 F=faf@a & @ a9 ff FRars givon 7 enfae 78 <02

Ans J 1. ST i grem
X< 2. ardefifares e Rem oret e
7< 3. foi g
7 4. wafaror fre

Question ID : 97675511018

Q.13 SieRig /M WieH (ILO) ZRT Uk farepa ufshan i vafcaar & amg & v & fara-t gfFamdt
Sl (3@ fire) Y uga= fir v @2

Ans X 1.7
X 2.4
W36
K48

Question ID : 97675511016




Q.14 a4 famra Raé yra & # gertfa gt &1
Ans X' 1. ucde 2 ad

X 2. vl 5
75 3. udlie 3 af
o 4. v af

Question ID : 97675511020

Q.15 @, YRd ERPR A I&RevuT i fifer &1 rer frar g1
Ans X' 1.1980s

#< 2.1960s

/X 3.1970s

o 4.1990s

Question ID : 97675511005

Q.16 F=fafEa 9 | fora asil/Rreeg A aof Rigia o1 I g fomr “Rda garst @) 9ra ant
RnfSa g & wu 7 afofa fFar?

Ans  of 1 A
7K 2. ara-faett
X 3. wr-fRgm
/X 4. gam =

Question ID : 97675511010

Q.17 fA=fafaa 7 @ s wRa &1 enffe sfagr foar &7
Ans X' 1. Feah

X 2. A
W 3 srRd@tam
/X 4. RF-udw
Question ID : 97675511011
Q18 3 o= @ & onfifes Rrerra & afgen Y sifaent & a<h R fk enfa nfafafoat &

Rasereror & e & onffen el o ameft oft R i v s 1
Ans X' 1.3 el
27X 2. mrf gt
75 3. 9 st
o 4 TR dERn

[ Question ID : 97675511023




Q.19 fF=fafea d & fnd wdigamy SR iR STamERere A8% 7 WRd &1 ugen iy aafwh wer a1?
3 Qeh A SIS faaRe 3R guUReE A

Ans  of 1 wEE A
25 2. afar S e
25 3. = e
X 4. &um. gl

Question ID : 97675511014

Q.20 IHTSIA Ueh "AFadrardl g A" @ | Aefaf@a § 9 fra ag wer?
Ans X 1. SISt |

75 2. vy

7< 3. @t A

of 4. swmEn

Question ID : 97675511007

Section : Discipline3

Q.1 @1t A1t & Rigia & ogaR F=faf@a 7 @ fre qria-aderT wer sem?
Ans X7 1. @it siftven, o, e g et

25 2. Tl o et @ e

Question ID : 97675511041

o 3. sriufa gl Sl e o @ & ggen, Sinfaa & & wotgy @ B1 G
X 4. Torgd G5 e e ifE s a d‘ﬂa

Q.2 fF=fafaa d & ufeafa qur yfawr H saaron fFraa §7?
Ans X' 1713 (Nadel)

75 2. %G AR (Max Weber)
o 3. e (Linton)
/X 4. @, gl (L. Dumont)

Question ID : 97675511043

Q.3 fFr=fafEa Fu=i § @ S g 78 82

Ans X 1. SiverRidrardt ok agzdforat # g T &
X 2. v o sy T s enfefes 2 g
/X 3. wiverie o gaam wrfifes ey g &
o 4. Giveiie ok gl g Aot § v &

Question ID : 97675511028




Q.4 2 e far o6 3R & uw @ St anensil & wu A rf A & ok g @ fafea wa
&1 32 7 vl 'm Y g e

Ans X 1. 7. O sfifyar
/X 2. gen fary
/X 3.9 gy

W 4. 3

Question ID : 97675511026

Q.5 FHuA AFEdTETg Fi SauRoT A ZRT & S oft?
Ans X 1.FTe

W 2 T
p R
75 4. 9R & st

Question ID : 97675511033

Q.6 WRears (Protestantism) 3k gsfiare & fiw srafeaes wg—wedy ZRT T R
T ot

Ans X' 1. gen fEry
K2 am
W 3 Faw
75 4. W

Question ID : 97675511030

Q.7 YeH-IHISIAE Ad STAToGh sid:hars & Hefdd g1
e fRFm &g gr R am

Ans X 1. Seeg ga o, Rt
X 2. g AR
W 3. E -
#< 4. s FE gt

Question ID : 97675511032

Q.8 f=fafea & wiq-ur gafaa 78 22

Ans X' 1. RT3 Afe $Rear -uH. g, sfifyar
7< 2. gt grRifhend - g SR
(3.m,ww—ﬁﬁ.w.gﬁq
7< 4 e 3 3feam difefeas -, wierdt

Question ID : 97675511035




Q.9 uH. T sfifars '"Sxpfaavor & uron & Gy omt eyl fAfafaa | § @ a1 sy
Tpfaenvor & forg @&t 872
Ans  off 1. Prech et 3 & arret STfera < srema et sreneor Rk

/X 2. onTh sfat g e <fieft et & gom el off
2K 3. 599 ORifOres et § Siifer erere e fasawor feman
~

72X 4. g TS § Tpd & Ed AR A B

Question ID : 97675511024

Q.10 There are different schools of Sociology. Of those schools, who of the following headed
the synthetic or general school of sociology?

Ans X' 1. August Comte
o 2. Emile Durkheim
/X 3. Adam Smith

x 4. Herbert Spencer

Question ID : 97675511029

Q.11 Wk AT & e A fafvs =Rt gla &1 A=afaf@a d @ sla-ar ugen 82
Ans X 1. el

o 2. fEmem
/X 3. repmm

K5 4w

Question ID : 97675511031

Q.12 fF=afafEa & @ FiF gr 1o ST o 969 31T

Ans  off 1. T STl wriSies e Tifda 8 &
25 2. Tk T it grIoTen e &Y e ahet &
2 3. Ta e Tt At e situarie w0 & uRfid gid §
/X 4. T genfia rifafd it wa aragR @ e aed

Question ID : 97675511036

Q.13 fA=faf@a d§ @ o9 ff aofie da < @ 9&5fda &2
Ans o 1. AT 3R e fsdor

X 2. uferrer fasdor
7< 3. AT fasdwor

7< 4. Tonces fasdwor

[ Question ID : 97675511037




Q.14 T SO Tplal & STATAT 310 HEpIA Tl aiaar 37 & ¥ | S St g1l
Ans X' 1. efRderar

/X 2. ek
o 3 SR
/< 4. Sl sgeraT

Question ID : 97675511040

Q.15 YR sfa sgegeat § 'Seafer’ iR 'AfasT' gahredehar srauron fham 72
Ans  off 1. T ST (M.N. Sriniwas)

/X 2.5 v g8 (G. S. Ghuriye)

75 3. @t g3 (S.C. Dube)

X 4. qa. gHIE (L. Dumont)

Question ID : 97675511042

Q.16 ‘¥R gureT # gRed= @ sl wRrRTett & Sremae ZRT & ST ST Yehdl @' 9g foheehr
e g?

Ans X" 1. gEHh g (S.C. Dube)
25 2.5 v g (G. S. Ghuriye)
X 3. R Fer (R. Kothari)

o 4. & s (0L P Mukherjee)

Question ID : 97675511039

Q.17 f=fafEa & 9 @9 a1 98 Fe & dD a 73 & o am
o= g2

Ans X 1. 5 sreTaet o Qe 1T 9 8
o 2. = Qe EufRd e ot aienT Rt Y o T & aEH &
75 3. 75 T & Qe sftaaies fem @
/X 4. 55H T &1 U W R §

Question ID : 97675511025

Q.18 Any Social research on a specific subject involving intensive study of a social
phenomenon, group, event as data is called

Ans X 1. Data collection
x 2. Interview Schedule
x 3. Cohort Study
( 4. Case study

Question ID : 97675511038




Q19 fr Y sriRe T 1 Rigia e Ram?
Ans  of 1. TE G Al

X 2. g

75 3. fim

X oo

Question ID : 97675511034

Q.20 @i 7 fas= &1 Uah ueTgsRe auR foRar ut| A | @ e & et & dwaror & Rigra d a9
T oIS Uget 37T 87

Ans  of 1 7l
75 2. e
75 3. TSI
25 4. o Rem

Question ID : 97675511027

Section : Discipline4

Q.1 A.H. sfenR 7 wnfSies @l & hF e @ gema Rar ani = 3 @ @i an sk grn
gt fam mar &2

Ans  of 1 FEa
X 2. et

/X 3. et e
adda

Question ID : 97675511045

Q.2 Reder i go A & v e o weiv ARt & aifes 3 aga e @ wdfda &1 94 Red
Eol gl ST &1

Ans X 1. dafees dery
/X 2. uRer Tdy
o 3. s (Fw)
/X 4. uRgra dey

Question ID : 97675511044

Q.3 f=afaf@a d @ R faeRe gursinsht #gr s 9 &2
Ans X 1. et AR

75 2. v

75 3. 3 Rapref

o 4 dewaw

Question ID : 97675511058




Q.4

Ans

7 g aRar & Rqareas & &t 93t ffgeil & uilaRe wu & wu d aftfa
foran afer 7 YR T uRaR & forg e det-gridig demeastt o grar fram

o 1o
X 2.y, R
X 3.9 Ris
/X 4. gd, shfvam

Question ID : 97675511062

Q.5
Ans

TEdteRruT & H@eof # Fafafea d @ & 1 9w =8 872
75 1. Sieritelta forare 7% &
X 2. -t et A a2 g 8
o 3 @ mdeg e
< 4. ¥ uReR e Mg &

Question ID : 97675511049

Q.6

Ans

3nyfARIeRRoT, THTSIINE & Uk URURe TH1ST & SefAes Taret & uRad= ot Geffa awar &1

g areaa & o Tl heat g1
72X 1. @A & amea
75 2. e
/X 3. T oik qaeich & wTfer

(4.6?13’-{@%

Q7
Ans

Who of the following gave the theory of anticipatory s ti

( 1. Merton

x 2. Luckmann

x 3. Linton

x 4. Spencer

Question ID : 97675511047

Question ID : 97675511055

Q.8
Ans

FrefafeEa 9 & e amnfSie afafiear & sreage frar?
f 1R
X 2 TR
75 3.7
X 4 s

Question ID : 97675511050




Q.9 TR &1 aRA FHATSIATH & HieR T gfeenior &1 Frafaf@a d & sla-ar awda o sref &7
Ans X' 1. TR

75 2. ugEr w

75 3. e

o 4. T

Question ID : 97675511056

Q.10 7 YR T gRaR &t aFg uRar & i &9 & g Shifdq Saeser & & u d
Qe T

Ans X1 gF
W 2
75 3. T fRis
< 4R

Question ID : 97675511061

Q.11 Fafaf@a d @ foram sifa sgaean @t @Rs wed ge AFa sifa & g 'ge sfa, 'ge o' eiw
'Yk SR I IAYRUN &Y Fehrerd h?

Ans X' 1.3%. TIRE
75 2. ieft it
75 3. .o srdsay
of 4. ot AR

Question ID : 97675511048

Q.12 uf & AfAER & g wrg & &t et @, o & &ar
gl

Ans X 1. fagR iR srem
27X 2. aret ok I
of 3. s 3 s
7 4. sma ok R

Question ID : 97675511060

Q.13 F=faf@a 7 @ o9 91 g amifSie siigled g Sit 9aTst & U 2 ol gura ar wenfdea o+t
T F&eI BT TATH el 87

Ans o 1. SiitercEe TSIk Siidter
/X 2. unfifer srcter
75 3. shifaert arfoien Sricier
2K 4. vfaforarardt arfors srctem

Question ID : 97675511054




Q.14 * S Faga Tk Rafedt’ A gwae e forei?
Ans X1 @

X 2. TS Faw

75 3. 9=m

(4.@%&!@3@

Question ID : 97675511053

Q.15 o1 Teh TRER & wime & S et weer Rt ot g/gat & e g &, af aRar
___ @g@arg

Ans X 1. st
(2.ﬁqﬂaﬁu
75 3. T
X 47w

Question ID : 97675511063

Q.16 F=faf@a & @ F19 ‘s Egreaewarn) it 3 ¢ afsfHd & daes &2
Ans X 1.5t gagd

X 2.5 . shfrara

W 3. & g

75 4. T RiE

Question ID : 97675511046

Q.17 The theory of ‘Leisure Class’ is propagated by
Ans ( 1. Veblen

75 2. Weber

75 3. Adam Smith

75 4. Spencer

Question ID : 97675511051

Q.18 ufRavff eree 'S & 4 Troal F uget s1ar A ¢ “Fiure Tsal H sraURoT fFER A2
Ans X 1.t gagd

(2. ity I

75 3. T s

/< 4. shfyara

Question ID : 97675511057




Q.19 Fr=fafaa & @ fFe diwentsfion a1, & Fema aifors oife de Fiefasy g faeh 872
Ans X' 1.@R

/X 2. e

W 3. 7% S

75 4. TRa

Question ID : 97675511052

Q.20 Uk gHTSIATE § g vRda w9 ulRar & qaeiene siwa | 12 daR &
ifferzor gier=T usfaq i &1

Ans X 1.t gagd
W 2. e (1998)
75 3. hifar
75 4. T Rig

Question ID : 97675511059

Section : Discipline5

Q.1 fA=fafae § @ @i "g Sy 36t § hias " & aws 272
Ans X' 1. @R

5 2. uew

75 3.0

. s AR a

Question ID : 97675511065

Q.2 f=faf@a & @ Si9-971 ek UehR 1 arior-21gst v 8 87
Ans X 1. mfior gz aredt A Ao AR &
fz.qwﬁiﬁﬁm%aaﬁuﬁméﬂﬁsz‘%uﬁw
72X 3. TETIRI T ST SR
75 4. amsfior rg-ure & e 7 e aRa §

Question ID : 97675511068

Q.3 AFEST &t A @A & g oer 21
Ans X 1. dhaet FRRIHE Hd

/X 2. &aet TRRTCH Hopd
fs.mm&ﬁ?wmmﬂqa
/X 4. Fae s

Question ID : 97675511077




Q.4 frad sremas @ uar g @ o aredienvor oik fAven & aRumeesu @+ uRar & +ff darfees
yfaept def d St g g &2

Ans  of 1 aifEE
X 2.7 TE R
25 3. st et
/X 4.7.79. 28

Question ID : 97675511071

Q5 uRaR i AdER) 3R fares Al ok wured Ft e & wu # 3 g1
Ans X 1. g

X 2.q8

75 3. T RiE

of 4w

Question ID : 97675511064

Q.6 Azfierur & deof & fR=faf@a & @ w9 o1 wy= g a8 82
Ans X 1. ameftor-2redt s SR off @ S 31
“2.W2ﬁuﬁm—%ﬂﬂﬁﬁﬁmﬁwﬂaﬁ%
X 3. o S wior-sred) afesfier 8 972 g 2
X 4. 5 A R-HRH chrdferet it TIHTGROT g &

Question ID : 97675511069

Q.7 GHTST &) 3T Al MHET LIkl bl a1 8?
Ans X' 1. T TR

X 2. w1 oiR anf
75 3. AR FHrST
of 4. st B oy

Question ID : 97675511072

Q.8 Ig Hy fhe= faar & 'uefierreress ®u & WRa & 99 AHerd &€ aul & " AT UR ATEA heet
are Trsraen fi e d R & 2

Ans X' 1. 3R . g
< 2. TaE g
(3.@&@@[&
P R CAC R

[ Question ID : 97675511081




Q.9 What is the role of the sociologist in the health care system?

Ans x 1. medical treatment provider
v' 2. patient advocate
x 3. controller of funds

/X 4. preventer of disease

Question ID : 97675511074

Q.10 afy srefeaer sifFerd =0 @ iR-gdigra srefeaaean ¢, af F=faf@a d @ o= a1 ffeea wd &1
Ans X 1. @ d@Te

25 2. sfteifies
75 3. geury fghar
«4.WTEﬁU

Question ID : 97675511080

Q.11 98 %Y= fra= fRar fak "Rarg & 51 uRar 4 g &, 7 f uRar i 12 faag 9 gidt &2
Ans X' 1.3

75 2w
o 3. s
/< 4 gsfm

Question ID : 97675511079

Q.12 F=faf@a 7 @ fres ar= F siawifdia iz siaw
Ans  off 1. &

p AL ER O

/X 3. st

75 4. TR

Question ID : 97675511070

Q.13 = & @ 1 garerd @ S fFan (eifeaa araes ) &1 3ergror 82
Ans o 1. uforw e A i

/X 2. wrafea # i

/X 3. uRear #

/X 4. ardifie e A i

Question ID : 97675511076




Q.14 Fzzufaal & Ay & ar 9 fFafaf@a § @ = o g« 78 82

Ans X 1. 3 enf i i & T Ry g o wR s @ Amea €
W 2. 3 it & e Rigi, o et ot el o &
X 3. IRt AT @ o URAR & aa i, sreferaret, FHIST I T SR i
/X 4.3 ot & et Ragiat Y ok eftet @1 7 3 8

Question ID : 97675511073

Q.15 @it & IFTER, A & St Hul i G STYR R @qr 8?
Ans X 1. 3T smhre & gt

25 2. afaor vRa &1 e
X 3. el & s

W 4 g & s

Question ID : 97675511083

Q.16 f=fafaa 7 @ foraa arfior srefegasyr iR S IoIR & u9T i srega= favan, St e &
Rrepe 'Higar ATk 1ita § sreaa @1 g foig @1 87

Ans X' 1. g g
X 2. hoagd
75 3. aE Rig
o 4 & @ AR

Question ID : 97675511067

Q.17 F=faf@a & @ i 91 35201 et A1t g1 fear T
Ans X' 1. EaETT IeTEH & o T U Tehd HEH el

of 2. St & sy F R Searest & o o G &t @
25 3. uffy & wnfie Ieare 3 i o Tha Aar @
7K 4. 3 IaareH & v &1 U Hohel et el &

Question ID : 97675511082

Q.18 fafvra gaTernfeat & Rigidal & sguR, F=fafaa d @ w4 a1 wifrderar i fRreivar a8 &2
Ans X 1. urfifes I o BT BT &

75 2. g Siteifaor @ afom &
7K 3. 75 ve Ot ufia & forer amnfoes wreend T ore Rt &)
o 4. rifRderan o & wriioies e @ e &

Question ID : 97675511078




Q.19 F=fafEa # @ o a1 e § @i agdteor ure et & g uf 9 de 9ReR gR1 Ismn
T heH TE 87

Ans  off 1. Fact Hiereprar & R & forg oifie eI T s
X 2. it R
75 3. DR 3fR et areR ofR Tretor & e farera
x 4. 783 FAgter & &, oty ®u & onfefes w0 & fUse avf & <l ofiR Afgersit & vrfert

Question ID : 97675511066

Q.20 &d "usnfadl Y gar" &) "grETfoies T il gar" O FE 1T HR Geha 87
Ans X 1. 5 Raftrear ugfar & forg wees wenfi feg

W 2. 78 iR deRat & gerst o i &

/X 3. 5 At it sroeft syraenait & AR F ard g Y orgefa &

25 4. 587 wear & Tafdq s A der R

Question ID : 97675511075

Section : Discipline6

Q.1 @ I1 HRF AFES] &l AT Tl her 8?2
i) T SR Rt
ii) enf ofiz
iii) ggEienvoT 3R AT

Ans X 1.t T i) T8t ii)

X 2. &aw)
75 3. Fatii)

o 4.0), ii) i)

Question ID : 97675511102

Q.2 T 9ATS & g Ageayuf sre =i 8?7

Ans X 1. 7 Tet &t sifSreafts &Y smaaedr s g Tel wRar §
72X 2. g AT TOh Y agd B ST 4T &
75 3. g qot it sifieafRs i savahdr d O e &
o 4. 75 i o ot ST ST @

Question ID : 97675511099




Q.3 dg &y fra= e & o6 "wwrer arnfSia Seiet o1 g Sgg 877
Ans X' 1. gdfm

o 2 AR

/< 3. AT

75 4. Fmh

Question ID : 97675511098

Q.4 "SfAEg" MR "F@FM" e HEST: A fagag &l
Ans  of 1.3R, fiw

X 2. Twpd, R

75 3.Ry, f=

/< 4R, A=

Question ID : 97675511100

Q.5 Residues and derivatives are both manifestations of sentiments, which according to
Pareto are

Ans X' 1. Leftovers
75 2. ill Power

( 3. Instincts

75 4. Occurrences

Question ID : 97675511092

—

Q.6 AT hl WA AT STeRAvITge a4 & /

|1 HaYy # AT 8
Ans  of 1. Fsfigor

75 2. wdhiaor

/X 3. aoifaes mase

X4,:rqﬁ€nﬁa?r&ﬂaﬂ?r@rgﬁﬂ

Question ID : 97675511090

Q.7 3R IR-3ilEfier wifged aq amTSis stigle gf¥eiur & SuR enuRa &
Ans  of 1w sy

X< 2. fsfiaor
75 3. 7Y Rard at dar et B gmer
X< 4. asTifee waste

[ Question ID : 97675511095




Q.8 u=HTY GRER hY raeron e ZRT & 7 27
Ans X' 1. gdfH

X 2. Fod

o 3. i

75 4. AFR

Question ID : 97675511087

Q.9 sreAfAfordl 371 wRe ToR' & AAF FIF & ?
Ans X' 1. g3, fsm

72X 2.3, e

75 3.sfhgw g

o 4 o

Question ID : 97675511086

Q.10 Fr=fafEa & @ o= i garensh T8 &2
Ans X' 1. wofe 3R 3Rer

/X 2.7oH g iR &% Rig

o 3. 7E o et AR

75 4. AR ok glased

Question ID : 97675511103

Q11 et e & Rigia 3 orgER, st @S 3 g =it B 3
Ans X' 1. SIS o bl UROTTH &

25 2. Tt dsht & frenfiia gan

o 3. TS T g R e 8

75 4. TSt T gRT e e ST 8

Question ID : 97675511091

Q.12 gfae gdiw g aem anensh 9, g R a1 & gareensh 472
Ans X" 1. zfaor sfenr

/X 2. s

3w

75 4. e

Question ID : 97675511101




Q.13 The characteristic of sociology is
Ans x 1. value-neutral

/X 2. conjectural
«3. empirical
/5 4. objective

Question ID : 97675511089

Q.14 e ot 5 "entPrdaraT oik s epf 3w &
Ans  of 1.8 G

75 2. anefw =&

75 3. 3ol g

/X 4. SETERaT 5w

Question ID : 97675511093

Q.15 af g Ga9 R T & g1y A § &t g7 ArHTSieh WA Y T g 87
Ans  of 1 gz
25 2. Troreiiferes saRe

X 3. 2w
75 4. @ yomedt

Question ID : 97675511094

Q.16 WRA it ftsr ST i & fAg Hi9-a1 U Agaygof
Ans X' 1. Ied SR &R

of 2. s
X 3. STTahdT &Y et
75 4. e andt g

Question ID : 97675511085

Q.17 SmIfSieh Stigie & Sftas ash # wifafier axon & SIgER &I a1 98l 87
Ans X' 1. gl Tade, Iga ok gad

(2.3@, TS, AIeRee! 3R U

75 3. TEEie, Faradieor, Iga, R gaw

/X 4. ua, e, Tede, ok 35

Question ID : 97675511096




Q.18 &4 Ta Ueiiehreah sia:ferarard) it germn amfSie sia:fharei & &9 o= @erd 87
Ans X' 1. aiftrerl &

/X 2. e sifieait & ATy

X 3w it & @y

(4.6&331’{%1%21

Question ID : 97675511088

Q19 el ______ o frarman g
Ans X 1. St

75 2. srfa

75 3.

W 4 g

Question ID : 97675511097

Q.20 frwert & srgar fAfaf@a 7 @ frad siafa amiSis gl sk dvuri afga sween siz
QMHTfSTeR ST T 31 fomar STrar 82

Ans X 1. GrIfoIs ST
of 2. srIfSics sepTRey
X 3. ams TR
X 4. amfoie ey

Question ID : 97675511084

Section : Discipline7

Q.1 FrfaiRe & @ w-ar o Rdsdieo i R 78 22

Ans X 1. it b st gRTRie o & forg et Pl ant arorfees ot R o 8
X 2. i R i 9 @ 31 R §
X 3. cim Pt 3 B o 7 o @13 &
o 4. i Rva-Rie e ) e wd o iR we e 2|

Question ID : 97675511118

Q.2 @i a1 fagia aafema gAifaat sk 92 arfSie qel & dfia day a1 fasdwor @ 87
Ans  off 1. wrIfSich e

X 2. wmifafRes gga
/X 3. Ridfes g
/X 4. e et

Question ID : 97675511107




Q.3 "IfSes stepfar fammT, TwTSIanes 6t ges o 8| B 7 & fore faam o1 frsdtuor sa+ =&
v mam g7

Ans X 1. gmfoie aRads
75 2. TS @
o 3. arIfSies Rarem
X 4. wmfSres fafafy

Question ID : 97675511106

Q.4 snffes e @1 o1 Tet maT @1 39 deof &, fA=faf@a § @ o9 'Saeude 09 hew' & dws
4

Ans X' 1. gsat ¥ (Dudley Seers)
75 2.37 (Wehn)
x 3. B8« (Mansell)
“ 4. 3\ 9 (Amartya Sen)

Question ID : 97675511119

Q.5 ST AT} F R FwiA-H Sifges s afera A2
Ans X' 1. URURe qehETT

Jz.lg\wm

/X 3. AadTETS

/X 4. faemeard

Question ID : 97675511115

Q.6 fA=fafEa & @ fora Fow &t wsa T sigate &t emag
Ans X 1. 9ES @ HIEH

o 2 F

/X 3. smR-fRR

/X 4TS

Question ID : 97675511110

Q.7 <@ A FFrafAa Tu @ 2= SR areft s ) aasm 3R ST 3iTeher e Y ST=HSTT &/Hdr
<hI foRaT <R <FaT <hgt SITaT 87

Ans X 1. SIS Shed
25 2. S aRads
f 3. zEheE I
/X 4. g @

Question ID : 97675511108




Q.8 uwfior gwTer f Agyef fRALvar -3t §?
Ans  of 1 gEETar

75 2. smyfaeiaor

7% 3. ufgpfa=or

75 4. affysfieor ofR smyfdeor

Question ID : 97675511121

Q.9 f=fafas & & fras Aargaamge (Gemeinschaft) $fiR Tdwmae (Gesellschafts) &t dmTfoies
a1 ot fem &2

Ans  of 1. BT
7 2. @t AR
75 3. %% Ris
/X 4w

Question ID : 97675511104

Q.10 G&l forama g7 Swd ffeas Bifedn sia 3 givpfas siarTe 21 &t Ter1?
Ans x 1. I it grETSie faiward, 1943 (Social Characteristics of State, 1943)

“ 2. G&pfa ofR 7e Uepiaeh Heehd FrTfore uRads, 1922 (Social Change with Respect to
Culture and original Natufe, 1922)

X 3. g3 i qrfoie faRisang, 1937 (Social Characteristics of Cities, 1937)
75 4. dEifiehr ok aeerd aRar, 1953 (Technology and the Changing Family, 1953)

Question ID : 97675511113

Q.11 RIS €t HoTTelt HTSIME & 714 6t fafda amared & «
Ans X 1. smife Tt

X 2. e et

X 3. s e

o 4 R wper

Question ID : 97675511105

Q.12 g wy= fra= fear & o6 g ok sfal i dwermn & aurar 22
Ans  of 1 g

X 2. e s

75 3. TR

X 4. ey, e

[ Question ID : 97675511116




Q.13 &9 39 ufehar & o1 shga & Sit gH A1a 9a1ST & UHT A & A srmasgs sl fafaa &3 &
HEg el §7

Ans o 1. G aRad
75 2. TS @
75 3. Tt | sasr
P R EC G

Question ID : 97675511111

Q.14 Fafaf@a d @ @i a1 wua smfawTar o d@effa o g?

Ans X 1. g, S a1 aragR e @ & forg 3t w8
(2.Wﬁw¢@mﬁaummaﬁiﬁwﬁmaméﬁ@ﬁ
75 3. 72 Tggh @ s
72X 4. o gt o st

Question ID : 97675511117

Q.15 arfSies AT & wrafie g f sauron # oM g o 3R v e frar 82
Ans X' 1.t sseg, AT

X 2R

X 3.Sftgagd

o 4 S oaEdd

Question ID : 97675511109

Q.16 i a=oit @1 fAas' & gEst =R
Ans o 1. anifaes o

/X 2. wnfifes =or
7 3. frepraard ==

/X 4. TERIEE TRoT

Question ID : 97675511114

Q.17 wifRdemEar & IR 7 Fafof@a d§ @ @9 @ saa g T8 8?2

Ans X 1. 7 arar aar & fon arew, @, fRvem onf e & wrge @ ok g
75 2. a5 AT W A fihT W ¥ T @
75 3. 75 RO B R AR &
W 4 Te et R g

Question ID : 97675511112




Q.18 zgw sty sifafas wa arRe farar war an?
Ans X' 1.1965

75 2.1971
o 3. 1961
75 4.1972

Question ID : 97675511120

Q.19 srfa fA:erhar fRaror g fora o T forar mar?
Ans X 1.1871

W 21850

75 3.1869
75 4.1876

Question ID : 97675511123

Q.20 @A |1 Ueh ATUH A g HR Tg sigofieor Y dpfaa ufthan @) amfaa @R awmar 82
Ans X 1. e QT

o 2. sl

75 3. v

75 4. sy

Question ID : 97675511122

Section : Discipline8

Q.1 F-Hh uiRfEafdes ara e 6 afafhar &, it ag fFar g 6 uefa § a3t axgy sik 7w o
ufaffa g ?

Ans  of 1. sesfar
75 2. smagREar
27X 3. wafaor fufeas
/X 4w w1

Question ID : 97675511136

Q.2 Prfafea § & 2 o mufs age 6 gor Rt 22
Ans X 1. FEATIG WIE

/X 2. smesfare

of 3. TR

X 4. S st dw

Question ID : 97675511138




Q.3 uifeafaes Jfemm & fog Fafafea 9 & o= @ fig 9 87
Ans X1.gﬁmsﬁmwaﬁﬁﬁgv&ﬁﬁﬁaﬁ?aﬂfﬂwﬁﬁmﬁeﬁwﬁmﬁﬁdﬁa%
2K 2. gfarensit @ ag st Faf nfafaftat siv snffe arawersi & wefa 7@ &
(3.@@Wﬁ@ﬁ%w¢m$mﬁwmaﬁ?é@ﬁﬁﬁwaﬂm
RN UG e
/X 4. & vatarofty aRfefE & srgge & Sl & wu & Are TArT ofk Tpia 6 g
Furfad e ue R

Question ID : 97675511134

Q.4 #E & IgER =1 | @ FI 1 cafwa srgger &1 adient gl 87
Ans X 1. @Ry

/X 2. faftare
W 3 afRf
75 4. fels

Question ID : 97675511124

Q.5 fAafaf@a & @ fraer orf ureaRe @191 & forg Tanef ar 2T &1 T w=ar 82
Ans X' 1. THRTCHE TRETRET

75 2. JuR T SHTeTH-TaH

/X 3. THRIEE TR Rl

of 4. s uredRepar

Question ID : 97675511141

Q.6 F=fafEa 7 @ foras aiREafad &5 arsa, qaafaa=
& ¢ el & e forar 82

Ans P 1. wafaeor Frafeas
75 2. smasfare
75 3. mRffe srefareft
o 4. TR AR

Question ID : 97675511135

Q.7 el gd & TG YR AR Ul @ - TR o goid THrER Iuese &0 gt oft ?
Ans  of 1 e

7< 2. T offe $fan

75 3. STERTTY

/X 4. diugTg

Question ID : 97675511129




Q.8 2rEd wHTSIATE 1 urifeafas gfeewtor -—--———----——- a1 ferenfara fama mar am
Ans  off 1. eRE U (R E Park)

75 2.4ggM (E Durkheim)

x 3. B AR (Max Weber)

/X 4. 8w A4 (F Tonnies)

Question ID : 97675511143

Q.9 Which one of the following statements is correct for the impacts of globalization on
relative deprivation ?

Ans ( 1. Relative deprivation is increased
x 2. There is no impact on relative deprivation
/X 3. Relative deprivation is decreased

x 4. change keep to remains

Question ID : 97675511142

Q.10 T 3R 39S &1 arTiores aRed= o fRigia fra wr emenRa @2

Ans X 1. FHETST B SR
25 2. gt # Sftew et
75 3. TS Y epfa

of 4. TS

Question ID : 97675511139

Q.11 w=a gHTet & AEfaf@a 7 9 forg @=or & s dar
8?

Ans X 1. offeifie
X 2. 9w
X aq®
W 4 e

Question ID : 97675511137

Q.12 wiehdifeh fzhaT st AoTgd e 3R TT & YATdaRoT )R SR 37 & g &9 1 Afed 9gras 82
Ans X' 1. defedes mfomT

o 2. TR Atea (i)
75 3. R e R

7 4. g Htew

[ Question ID : 97675511131




Q.13 Prefafla # @ R dar 3 onfifer af & s it &, AR orrt arrepfires meeit it 7t e 2
Ans X' 1. @S

X 2.9ra

o 3.7

/X 4. T o e

Question ID : 97675511130

Q.14 fora= wet 6 'Rarg H qoft arehiifaer aRememd aaef §'2
Ans X 1. Ffrem

7% 2. @

X 3w

o 4

Question ID : 97675511125

Q.15 Pr=foifla & @ @t an fiig deph @i & forg wd 22

Ans X 1. Rl @ e ot Fs mffafir ot anfifes caewenol & aed oiftie ek @ et &
75 2. st @ g it Pafs wfafafa ok enfifes arawensit @ wafa 7ef 2
o 3. et e e it e R o Tt caowemat il e 8 Esig
X 4. gfremait o wg St Fafe afifafrat siv e aqmemet & <<fie w1 §

Question ID : 97675511133

Q.16 W:ﬁ%ﬂﬂﬁ;ﬂmaﬁﬂi‘?
Ans o 1 TG

X 2. faee

25 3. 3o 3 g A

K 4R

Question ID : 97675511140

Q.17 e g Ty R & 6 "awrsrems anafSies forar & sref ol aae= o1 flmm= 81" 2
Ans X' 1. TEeR

X 2. s ww

/X 3. ssey, s

W 4 fFwaw

Question ID : 97675511127




Q.18 3R 7 fore= fafre uerR &Y ArnIfSier foRaTsii Y ggam &t &2
Ans X' 1.5

5 2.2

/< 3.3

o 44

Question ID : 97675511132

Q.19 GHER g 'qaTER' Y TATET R aef Y 7 oft?
Ans X 1.1971

75 2.1972
75 3.1975
W 41976

Question ID : 97675511128

Q.20 ufaeaeff @ggl & fa a=ra & e & arfSie agR & 9@ sl avg THSAT SIat §1 R 91
TSNS ufkved ag wrar 7

Ans X 1. amyfehTeRRor
/X 2. wiverRer
/X 3. gaH FHTSIIe
o 4. Frafors aRiga

Question ID : 97675511126

Section : Discipline9

Q.1 F=fafaa d @ fFaa wer o1 i gt degpfaat @roi & g Fafa e @ qerd g2
Ans « 1. Sfi¥aTes Wer (Oswald Spengler)

75 2. %Fg AR (Max Weber)
X 3. 3ramed fofehe (Abraham Lincoln)
75 4. . s=ey, 73T (C W. Right)

Question ID : 97675511148

Q.2 e d @ w-u1 g ufeaifar o wrf 78 82

Ans X 1. 7 U TR IcpEAT T e Y FeT daT el §
o 2. s eften vy cafteat @ @
/X 3. 7% WSS Tarar] & HieiTe HeH &R & fag fier 8
/X 4. 38 TR FaTaRt Bt e wer

Question ID : 97675511156




Q.3 iz & gew fA=fafaa 3 9 fra ges ol ured A & fog s T ama & 2
Ans X' 1. s st

X 2. @t St

7< 3.7t am ofk 7 & wrht SR

(4.&@@%@7—{%@@

Question ID : 97675511151

Q.4 =R &g FI ST SHfa & Hafda g1
Ans X" 1. geff favor efwia

of 2. SR ufEm dwia

/X 3. ot ufgm <

75 4. geff I i

Question ID : 97675511153

Q.5 oyfe O & R sk Rafta aagramtafs __ |
Ans X' 1. @t arTToreR AEST & uter & AR H s fhar st anfeg
75 2. % qe umTe & w0 agR foar s anfey
o 3. o T e difeg
25 4. o Ao afRshR fham St AT

Question ID : 97675511154

Q.6 FF a1 Rigia FaR @ 3= g @ f v afe s d
Aq13if Bl ARTST Al 3T ATEAT 87

Ans X 1. Amefer dive Rigid
75 2.t T g Righa
of 3. gl
/X 4. TEIie HRe g

Question ID : 97675511159

Q.7 Gl & geirg gHSInfEEt ok gifeuhifael grr nféa gl @t gl SITET g1
Ans X 1. T @

/X 2. Fdie W

(3.€r@ﬁnﬂ%

75 4. offe Tgg

Question ID : 97675511149




Q.8 ICSSR (Wrdta ar o fasm srgeu uRws) &t TuTa=T & g3 of?
Ans  of 1.1969

75 2.1967
75 3.1971
75 4.1959

Question ID : 97675511152

Q.9 F=faf@a 7 & FF AH-THISINE & Gk Uge el 87
Ans X 1. STTefr e

/X 2. amfor-sred e
X 3. wfem st
W 4. sieifiies sy

Question ID : 97675511161

Q.10 & & 1€ & YR #, YRd # gareinfedl & fi= A=faf@a 9 @ <= an srogs aea
reRfv Ur?

Ans X 1. a1l srem
7K 2. ofeifies Ty

«3.U’WGI'FIITFT

X 4. s gt

Question ID : 97675511150

Q.11 #e uder &, g Deft ht
Ans X1 g

/X 2.y

of 3. R

p R

Question ID : 97675511144

Q.12 aare & = # farea g u1- ‘A diwan §, safag A §'7?
Ans X 1. 3RE] (Aristotle)

/X 2. @ (Plato)

( 3. 3g&1eT (Descartes)

X 4. UT3UTTRY (Pythagoras)

Question ID : 97675511146




Q.13 3=a AT g & | ANTET -t dTet hIReh! ol AT -
Ans X 1. frarm

75 2. yaagd e

W 3 @

/X 4. et Afgers B wer # gfg

Question ID : 97675511160

Q.14 e ag wu= fan & 6 "gdf vira & ags &Y s sadh ae & gter & o srgua &
= gt g"?

Ans X 1.aré Ris
W 2 T &l
/X 3.wa g
75 4. T, shfam

Question ID : 97675511158

Q.15 ufaaifar & fog, Aafaf@a d @ s ar g 82
Ans X' 1. 95 Q& eI HfshaT &

/< 2. sgeafma g

o 3. 76 sdafea

X 4. g Frée e At &

Question ID : 97675511155

Q.16 whiteh shifer & THT R T AF Hi AT?
Ans X' 1. EioR et

75 2. v g

W 3. T desd

X 4 gd e

Question ID : 97675511145

Q.17 "I Hre' foradht far 872

Ans  off 1.Tgagd (G. S. Ghurey)
X 2. % Ut ggrareard (K. P. Chattapadhyay)
7< 3. s ga.am. Rawf (W.H.R. Rivers)
X 4. S5 W (W. J. Perry)

Question ID : 97675511163




Q.18 A AR & IR, e QREPRI & T Ravor ot Teffa e @ safh
TSI I & AT faaror @t deffa wear g1

Ans X" 1. =ifes, mferst
75 2. wufa, o
75 3. @, Sfa
W 4 af R

Question ID : 97675511162

Q.19 fFafafEa d & Far dwpla ik 9vaer & fog &rg 81 872
Ans o 1. AT ofaTE @ R gq @

X 2. s A E

25 3. 3 v 7@ &

27X 4. 2 o1 Ty Sftew et & 2

Question ID : 97675511147

Q.20 F=fef@a 7 @ w-a1 gdtas dafds Taert & shoft F emar 82
Ans X 1. uct & firar

of 2 g dam

27X 3. mar & farar

25 4. aren & o

Question ID : 97675511157

Section : Teaching Methodology

Q.1 af e o= i AR omg 10 af ok FeTgeRAT omg 9 af & at a3 &1 srdery R Em?
Ans  of 1111

X 2,122

X 3.19

75 4.85

Question ID : 97675511181

Q.2 wHETSIEE & sfaer d ufiig Iareeon @ & "diféie s aafth ok 3ue divgfas
TATERUT <Al YRRk 3Teqa— g1" oh ZR1 gl T ATl (T e TH)

Ans X' 1. &R
W 2 e’

75 3.9

P A

Question ID : 97675511164




Q.3 fvem & Rreurh 791 f sraeron #1 o1 & for wheft ursw=af @t = 3 @ fFg aa R e &
@fee?
Ans X 1. fSdr A @
/X 2. it Ageayef &
W 3. it R
X 4. Sudroa &

Question ID : 97675511175

Q.4 RA 7 ¢ s gAifaal ht arearsil ) uR &R a1 fRAen & &7 J Rt avg awear gifaa &
g1 3MTUh IJUR T MR fer & fog aed ww wgeayof g aar 87

Ans  off 1. S el
25 2. e & 3= Anrd
25 3. STrEE @ R
X 4. P maa Red

Question ID : 97675511168

Q.5 f=faf@a & @ =T g A8t o1 sdea &7
1. &= i IufeAf &1 Reprd @
2. ursa=df 3R Gg-ursushy nfafafal s smaer:

Ans X' 1. &ad 2
K2 adsiRad2
/X 3 Faa

of 4 315k 2
a Question ID : 97675511170

Q.6 alvs AreafAe wansi & forg gaTsTTe & et & T &, Her d yaer A & 95 o 999
uge i O & F1? (FRafa a8 & o smuds urd firoelt sieeprdt & fok e aga siflre e
- aTet 3R MR arett 81)

Ans o 1. uce i forad & oY g TurTeRen it
X 2. o at e @ e Ao
75 3.3= gem &
X s mRma

Question ID : 97675511180

Q.7 A7 siglie # a9 a1 amriSies aroft &1 ag gden o= aial ok ulRar & a1 g amgan
g1 FATSIAE & et & wu A fFAmafafla § @ & a1 sy aRar & ar J a8 78 87

Ans X 1. F/=d & S & forg g UeHT SIS FU & AR U7 T §
J 2. IE THTST Sl TRATS LT § Sif Fedf & HAfhed oh (AR I U1 et &
7K 3. 75 genT weayel Tole § it et & Tpla & aed ot ufe awardt @
72X 4. g w=a & IITSIcheeoT SR UTeT-TiwoT 3 forg e smasaeh gorelt &

Question ID : 97675511171




Q.8 =T 4R Fg ThR =1 ki e Hify g 21 e sxaeur wR S @ gu= fAesor g1 e
YUTTell UR TR <kt fAd=ror eafRerd & wilfer

Ans X 1. WaR feraelt §
J 2. frem & Oar @< glar €; 3R 091 TR gRT &Y IUTey e ST Gehdll &
25 3. e ez e oref T @
/X 4. TR & A GRT T P e T iR &

Question ID : 97675511173

Q.9 Thel (FATSIAA & &7 #) & IR # FAfafaa § @ @ a1 sy g adi 82
Ans X 1. 3 arifoe aRads & ftsarrelt SueRor §

J2.3m3ﬁ?ﬁmiﬁﬂﬁaqﬁ?%
x 3. & 3T =Y ¥ grTioie 3R anfefar fRAfdaY ofik gamr gogar & uRad= @ ywifad gid &
X 4. 3 Tipfs wrTRoT Y o GSiftat &

Question ID : 97675511165

Q.10 wmanT gt fAaror deurt § it Sl 1 arem-utor e @ & (79 U @ URNeE == & e
#) 7 a1q fAerer Fi sraurRon At SroETET §1 Uk ufAg] fAerew g & A st ag Ay g
=y for fvem & T T 1<t B

Ans X' 1. qer
Jz.u%ntﬂ?mf

75 3. TEmS

75 4. Rers

Question ID : 97675511183

Q.11 GHTSIENE & A8 & ®u F AU 59 fAdw &5 7 S aut ae vatc wte forar @1 smuds egErR
R4 Y fA=fafEd d @ fra e S 1 fRren w 18 uang 98 usar 82

Ans X' 1. uRear
(2.%@%%
X 3. WFR
75 4.

Question ID : 97675511182

Q.12 Tah 7= & g Ataee e & g @ i de qat agaygef yfEw R &- e, aRar
3R IHTST| G 6 IR GHTSHRR0T Y ufehar & sifderan aler fafaf@a d @ fra e @
AT 8?7

Ans X 1. @

W 2w

7K 3. s

/< 4w

Question ID : 97675511179




Q.13 9Ra ST 227 St gAAT s el @ FRE R giar @, ag g, snffes ar enfifer gt Terar 21
wfer fthr oft, emudh srgerR A=t & & = e it wfekan &t wonfaa i sear 87

Ans X 1. TS o ST T
X 2. e o eemrg
J&w\—ﬁmaﬁnmaﬁ

X 4. TSt 3R 3T WIS e Y Tpha

Question ID : 97675511169

Q.14 yfe arsTsRd Fo Ry e &) e # W ge durR faeg 1 €1 Aefafea dfaés
TSI e & fhe uge @ Heifda 82

Ans X 1. tfaeRe
o 2. s
75 3. e
75 4. o

Question ID : 97675511167

Q.15 Tk I3 okl gH2AT Teh AE oh Wfrsy & &9 7 7111 Sira g | afhior faesre awrst o1 sifaw deg g1
frafafEa & @ &9 73 & aaftha & sean e & anf & g o arur &2

Ans X 1. fRrem & G ot aUTENE UTE e 3 forg ffS g wngt & e Rmam
o 2. =it & forg woe g SR FH S
7< 3. srem Rar
/X 4. i onfifes sifdisty St e or @ fear s wehar &

Question ID : 97675511166

Q.16 YR Fear) TuTs ot s ik nffes fRAfa & def & vl & fRAfvs =i & Rafea
foraT 11 TeRdT & 1| IHTSI & fAere & w0 A Ffaf@a 3 @ @9 399 @ v 98 87

Ans X' 1. 7o oif
X 2.gmat

v 3R

75 4 Pt

Question ID : 97675511178

Q.17 YR Tpeft fAem yomeft #§ [Aoft ofik IRt Thpe a1 @1 A8 & & § 99 "ga w@d g1 gt
TRFR & Anfeefa F off 9o 1 mudh SrguR Thel e # SRR Y oyt F ar F
Frafafaa § @ 9 ar ad a8 &2

Ans X 1. 7 Tpfoera g afd wTSt  TRemTd @R
2K 2. R Tt e ardse B of dearor & i S @t wefd @t § ot 7 H g s
J&u’ggﬁﬁﬁ&m’fﬂ@ﬁ%ﬁ@%ﬂwﬁaﬁml
/X 4. 9% 9 ST af Tgeft v @it R ofik searor & 9 SR @t T et

Question ID : 97675511176




Q.18 Teh fAereh =l gA U= BHT & i Teh sgef @fth T9M & g amagRear diew &
FYRUM <ht fARfAa s T1fgu | aaragiRes fren & R w1 oref & fon fRAren &) fPafaf@a w
@ g wfeg:

Ans X' 1. g
X 2. smrd I
of 3. el g
/X 4. s

Question ID : 97675511174

Q.19 T F=3 & forg waee faera &t gf® & o= & g Agaygef yfaew A §- @, aRar
3R GHTST| Yeh AT TXUT & w0 H URAR a1 3imaaes & & -

Ans o 1wl it srRude & € ST dTer-ahor
75 2. Sfe & o =Ront 7 st e wem a
75 3. Tema & et # gf
/X 4. 3= et e

Question ID : 97675511177

Q.20 “Every time is learning time” for everyone. It may be applicable for a teacher as well as a
student. Likewise what type of education the family imparts to the child according to you?

Ans X 1.Formal

J 2. Informal
75 3.Regular
/< 4. Deliberate

a Quiestion D : 97675511172






